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INTRODUCTION

There has been considerable controversy about the importance
of teaching foreign-language grammar. In the early twenties, the
grammar-translation method was dominant, while other aspects
of a foreign language were not considered as important. It was
believed that a knowledge of grammar would enable a learner to
easily and correctly communicate in the target language. However,
with the rise of the communicative approach in the early seventies,
this approach was strongly challenged. The communicative aspects
became the focus of language instruction, while grammar instruction
was partially, or sometimes completely, eclipsed.

In recent years, the teaching of grammar as part of foreign-
language instruction has begun to regain its importance. Accordingly,
the question now is not “Should grammar be taught?” as much as it
is “What is the most effective way to teach grammar?”

Grammar is not a skill in and of itself: it is a supplement to, or even
the backbone of, each of the four major skills of language aptitude—
reading, writing, listening, and speaking. Grammar, together with
other elements of the language, is the tool that enables learners to
comprehend and produce a language effectively. However, grammar
should not be taught as a set of rigid rules in isolation from the language;
rather it should be associated with meaning and function.

Al-Murshid: A Guide to Modern Standard Arabic Grammar for the
Intermediate Levelis intended to be a reference for Arabic grammar
in general, or a supplement to any basic Modern Standard Arabic
course. Each lesson begins with a brief explanation in English of
a grammar rule, in addition to examples of this rule being applied
in context. This is followed by various types of drills that begin



with controlled, mechanical drills, and end with writing activities
that are based on the rules introduced in the lessons. The book is
also accompanied by a CD that includes animated presentations
illustrating the grammar rules explained in the lessons, and
interactive drills.
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0 ) daudl) dlaall — dlaal

Arabic has two types of sentences: 4.aw¥! laall, which starts with a noun, and
4ladll dlaal) which starts with a verb. The subject of 4weuY) dlaall is called
i.ﬁ,\d\ and the predicate _all .ii\,mj\ has to be a definite noun.

B (A 1o = ) LpenY) dleal)

subject (definite) + predicate = ) 4rewY) dlaall

_»ll can be one of the following:
a. a noun (Lis), e.g.:

Aeluoiw = upra 1w
UJ:\S Ayaall e.m‘ = comS QUSY) w
bl .

b. a prepositional phrase or an adverbial phrase (dled 4:d), e.g.:

) alaf Byladl = el A A .

c. a verb (4hd day), e.g.:

il S ay a0 m Ayl Aall) Swpa Ul m

Complete to form sentences: :Jaad) folas] ()

£

LAlia % T uo)

WP EN VS PR S PONPN | A UX PR




QLS axlas

'é)AM\ JLLIA

Use in nominal sentences:
Bl e
cJaadll
(s gall
DES G

.3}@3‘ :

A

A

e

A

49

S

S\.JM (o]
rdgand Jaa A llania (¥
il uyak L)

Byalall fu::_u@ Y
chla L€

Aralall Gangigd Lo

:ousally aisall ) Saall e sl (¥

Change from masculine to feminine or vice versa

o) alel Ayl 5yl
Al Al o
Anlall Gl

A
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A
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() o Asad Jaa 0 e aSiud oo B8 |93 (¢
Write a paragraph about your family consisting of at least 5 4la>
danl;

3

.‘éj).uj
Complete the following paragraph: :A0 5,881 |gLas] (°
lesd S
sed S L] ..
CALA“ u).\)sﬂ.\]“ L)
s¢d aleal) L




) \ghaait 400500 5,841 |glas] (4

Describe the picture by completing the following paragraph:

-
]

daals 8

3yl
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Laalal) oL
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I Jeadl)



Y dpaud) dlaall — dlaal

Since 4! ileall may not begin with an indefinite noun, if ixuall is indefinite,
it must be delayed and preceded by _.all, which, in this case, would be a
prepositional or an adverbial phrase (dlea 41%),

A 1+ a8 SR = Y L) Al

(delayed subject) + (fronted predicate) = ¥ Ay alaal)

Examples:

+oadhe i = Y el Aaa| i + aie = ) Lend Uay | )

Aba i
i ekl e S et |
A S a Sl con ALall) | Y
Bk ) B ) ol Byl | ¥
sl 8 paall ae B3l ae illal) ¢
e Jlen S e S e Jhad) Jlea| o
Complete as in the example: tJlal) A Las |las] (Y
C DU Jeail b e L Juail) 3 DU 2l
el 8 T el 8yl L)
) bl Bl LY S A Al LY
S e i) Sl A ) e sl Ly




Al e sl .9 oSl Cnt el 3yl

oppall Gt QU)LY

e b ol

o

)

0Pl ] 5/ 12 g el i) b L L] (7

Complete as in the example using prepositions, and/or adverbs:

il Baall 8 paall 8 Ciilgl < cinla )

248 L&

Choose the correct answer:
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Complete to form sentences: tdaa (oSl |glas] (i

5 Jaill i )
9 Lﬁ.\.\f— .V

9 ‘;b;;/kf'\ﬂ@ Y
3 ool Lt

P Al LjidlS i .0

el Jaa Jleaiuils §) pual) Jgiua (°
Describe the picture using nominal sentences:

Qﬁ.@\; =

o .a
............ ——= N
=P A
AEY X P& '4 ﬂ =
ol i

e oY) e A0 Cud ay J8ie o3 ABE Claay Juls




B LY o lawl — dlaal)
LAY ¢ Laud

e T

a i Lia
Cailga/ sSha ) S Ciga S

SilglfeVsa | | (obla) obla | | (o) olaa | | elijeda | | Sy

A demonstrative + an indefinite noun = a complete sentence, e.g.

This is a book. LUS s

A demonstrative + a definite noun = a phrase, e.g.

This book ... SR N | KV

A demonstrative + a pronoun + a definite noun = a complete sentence, €.g.

This is the book. R N Y- QAT

% An 48l + a demonstrative referring to the first term of 4dl):

This book of the teacher... e 1 Al Qs

First term of 48L&) + demonstrative referring to the second term of 4éL)
+ second term of 4éLl:

The book of this teacher... e Ayl s2a IS
This teacher’s book...

O Jeadll A



Choose the correct answer:

:Aagaal) dglay) g U8) ()

7. This door of the house is broken.

e bl 138
«euSa 138 il il
sniSa gl 138 il

N

o

1. This is an excellent idea.

3)lhae 5,58 528

3liee 55400 038

'é)\lq.d\ '&)Sﬂ\ c_s“ 53

.
—_—

8. That is the German student.
LAlall 2l o3a

—_—

2. This idea is excellent.

.3)lhas 3,8 524

byl AWl o eda .J 3)lae 3,880 28 Lo
Al s 2 .z B)iad) S 402 .z
9. These are two American students. | 3. This is the new student.
LSyl Uil L cuaall Qltall g 13
COLSeY) GUID L ol L s allall 1 Lo
oSl il gl Lz sl e
10. This car of the company is very 4. This is a new student.
o ; caal QI g 13
‘ Jaa A8 A4S AN oda 3l ) e G B
Jas L::\.ﬁ\ ECGRAI: FR QPR S e il
A8 oda AS A Byl -z
11. This is a big house. 5. This student is new.
R YRR LY cuaall il g 1 L
oS Gl 1 Lo caas clldall 1 Lo
onSlh ) o4 138z s Qlls s




12. These are the new students. 6. This car is big.

claaa aldls oYsa L ByaS Bl 028
LOlaaa Gldtall Yo e BnSl )kl 4 o3a
lyoall alllall e Ve 3)y0S Byl 524

.
—n

Translate into Arabic:

L.

This is a new book.

2. Iread these books.

3. This is an American student.

4. This is the Russian president.

5. This is the Arabic language book.
6.
7
8
9

This student’s car is new.

. I'live in that small house.
. Did you see this new film?

. This is the new company director.

10.This book of the student is new.

11.This food is delicious.

12.We ate in this restaurant yesterday.

13.My friend works in this office.

14.This is our friend’s son.

15.This son of his is very smart.

I Jeadl
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Choose the correct answer: :w‘ :\_‘h\n g LA (‘v
(Lal/ald) 138 dalis o ayy L)

gl Bl (s 30n]) (COURI/DU) S .Y

el (Juadll/Jiad) 138 .Y

Sl (Hludl/s)lan) oo oda £

(Jsnadl/Js) 138 agdl Y L0

F(A/AA) ol ize Lo .1

(ooxdl/ ) 138 LY

9( RS/ S) 1aa D e A

s alial) BLEY) amly slas] (¢
Complete using the appropriate demonstrative:

PRTISE sSe  5 S8e
PR\ R SO (/N Cufdl Ll )
oo Ak alels ade Gaal Y s e (oS )

@ 585 sl S ale ad Al lan € i

DES SUT I3 13s 3

Ay sadaiy) da o) ALy 3841 |gan i (e
Translate the previous paragraph into English.

VY dleall



LY o Lamdy Ayan) Jan Jlaaiaily 5) gual) Jgiean (1
6) Describe the picture using dsawl 4laa and 5,L3Y) & laul:

2‘§:Duj
e 108 Al Ciiay Jale

IV Jeadll VY



) a - e - -
41241l Laal) is a sentence that starts with a verb. Its main components are Jadl)
(the verb) and Je\dl) (literally, the doer of the verb, i.e. subject of the sentence).
If the verb is transitive the sentence will have a 43 Jg2da (object of the verb).

(40 Jsmia +) Jeld + Jeb = dleill Aleal

Following are examples of 4adl) 4leal:

el Bl O ey L)

.‘;G.Jms@uui Eaja LY

calall el 8 saas WO Lals LY
:\.:\.)M\GAM.J.MJ\MLUJAA\;ESQ £
gl e 13le Gadd 3G ) Gyl Jeay L0

The following chart analyzes the above examples to show their
components:

A Jgdall el Jdll
Al 4l DL oY )
(1) 22 *
A (0> KTYI 1
Ul eal Sy ¢
- ol duay °

* Inexamples 2 and 3, Je\dll is contained in the form of the verb &a i and
Laa L,

VY el



) Jaad (b 4y gaially Jolilly Jedl) (g atu ()

1) Find out 4 J gdally «Jeldl) (J2dl in the following sentences:

cosil) zlua Liaia Daige ud)ll Sy )
comalia Aaal) e linay LY
Jaliegdy Alladl Ui ¥
luall 13n 5ogall che algSTADE Euyys L
ALKl e " 3T Guseld DU gl Lo
Caal) axhadll b o liall alsls Ja .1
Ls2ig)) alakall (DUl Cmy LY
il gl 2y Aapaal) & (Ol (ulay LA
2) Complete the following sentences: :AIEY) Jaad) glas] (Y
RS )
Bl QLN les oo 33061 (DU R
sapall LI il 330Y) ¥
T
e B
SCspaalill 8 adal nali g A
GAS LY
A A
AU
ling) Dle de Luliag [uS Saa A
I deadll V¢



ddadl) dlaad)y dracd) dlagl) — dlaal)
In 4l=dl) Alead), the verb agrees with its subject only in gender but must always
be singular. If, however, the verb follows its subject (i.€., is & in a dsawl idas),

the verb must agree with the subject in gender and number. The following
table illustrates the rule:

Adadl) Jaad) daau) Jaal) iy
o0l el 2y ool gad sl | )
conl paall ciagd cond cayd Lupaal| Y
oAl Gl g ol agd Gl [ Y
condl lidall cia gyl ol lagd gliwyall | ¢
ol Gl ik ol lgapd Ggapsadl | 0
conAll Silugdal) ca conAl Caud Glaall 1

:ually Aglad ) Ayacd (a Waslsn o Alaa S g Jgaaa ()
1) Determine the type of each sentence and change it from nomi-
nal to verbal and vice versa:

(e Alea) +Juaill ) Ll cad 2 Jtia)
deadl) ) cnd L jadl)

(IS (ygmapnall Guly

el el OOl YA ups LY casl) e lyigll iyl Sl L)

oY) s Gliad) L6 Ll glead ) geailill il LY
caall Gl agh (DUl Jola 1 Jaglee Glalagall JuST L0
el i Jaadl) fglan (O U8 LA ccalall) S i€ CoUall LY

Vo ilal



Aaaal) & QLD Qs Y e Rl 1 Caaall es i LA

tulial) JS&) A bl Jadl) Jgria (¥
2) Write the past tense verb in the correct form:

(Gl -olaia¥) dinlb e gsuaal .

(D) lall e diase e Ayyseenll Gud) elyysh .Y
(Uil) DY) A il oyl ) Gl ¥
(U2) A l) el (dlal) .

(U8U) B ypaall aa elSlie clillal) .0

(Briasl) . olaia Vi DA

(ail) 3 luse Arglidl Aol s 5pualadl) R
(28e) ) mlua Lisia Haita Ol A
(5dl) . Al Jaall b ot .4

(1) -asd) zloa sl & il olilall .y

(ln) Alua 5yl delud) 6 cuyxil Gse L)Y
(das) owabio diad) ) Oy ¢y gunpaall Y

(AN OBy (oleatad .Adad L) Wglss af dpand San 193sS (¥
3) Form 4:aul Ja> and change them to 423 Ja> using the following
verbs:

il L8 Jhe Y
L.\A\ ° L_.igj Y
SAasl il LY

I dadll 3%



JA.«AAJ\ = ZUA%S‘
1. Jaadll is a noun derived from a verb, which refers to the act of doing that
verb. It corresponds to the English gerund or infinitive.

= [ want to visit the pyramids. bl By oyl
= [ like reading very much. JS Be )l (] om

2. Juaall may function as a Jel&, jA , ixisa ... etc.

fia olend Bude pall sl Afps

A el Gl A g oY) J il el m

4 Jsrda stie Lol Aalll Ay ipvs
2902 pud Al Bl Al s ) Eapn

3. suadllis usually definite.
Alaidl Gyl s Beldl  m
casill J8 CDladlly awadll So)8 cal =

JMA=&JL'4AJ:.§+Z)§

A L) QA b)) e Akl ) cadi Gyl m

el Qi ans Jb «—B5edll it 3 (i Ja

M Slial) jramal) «—— Judll + & 1slsa (3
1) Change to the corresponding verbal noun:

laall b sl Copil & Sal

M See Appendix 1 for a list of some Form I verbs and verbal nouns.

W Al



aaaal) el v R

Aleadl o3 T G casy

V) clalsl) (€5 A gl (e

(A e gl &y s Y B3k
s Gl 138 Gy G casg
Aralall aadas & ST 3 Gl

4S5 oda 3 Jasd 3 <) 58 o
Aoy Tyl 2l aes G g b

NS JER IR FEN e >
AN

casall Laaadll 1) a3 4 )
€adill 5.8 Caali O Caa3 Ja

A o3a Ty 3 g siall (e b

saaall clayidl Baaad o G

Y

'Y

AN

) : Al B LS g jlaa Jad + G «—— ) uaall lglsa (Y

2) Change to ( + present tense as in the example:

cas S A says D 3 Oslal e a5 US Aupe 5o Belf Jolal b

¢ Ul o 3l gy iy B
el g Lo Ol 2y
fomadl) G Guslall Caas Ja
AL agh O Jla

oltinll plals e e Cang

o)
.Y
¥

@ See Appendix 1 for a list of some Form I verbs and verbal nouns.

I Jaadll

YA



S adl A daludl caf 1

Sou seld Cuus Ja .Y

A o3 Jime ge Gandl Zle any LA
Aoy zoal lide iy .4

L Cagdgll Jiadl LY

Jiae G3he¥) 8 lgas )Y

SR o3 Ja Joniesall (pe Ja VY
A 3 Bl Jolal ¥
Jbaa S8 lgle gy ) 8

chn J 5,3 oLl Jae i V0
i ola ol ALl 6 (Kl i Ja 1

:osaall Jlaniuly A0 ) guall |gdia (v
3) Describe the following pictures using Juaal:

il 3 e 258 JSD A pad A8 Lgmy A lilsgdl e uaay Jale : Liilisa
E L il 8 lesler of sy Aulsa

g@‘%}

~R 8"/‘
,a,\ i P
\‘\\

Y4 dleall



A

ST
'
10D
A

| =

PP

sdbaal) aladtuly Lged aSile iy AN £ LAY Aail |g8) (¢
4) Write a list of things you have to do. Use jyaall:
£ o) dlgi dlke Pla =
Giadll 22y m
e =
Pl g ooyl
pEl) el

I deadll Y



Y oS - Alaad
1. To put L:awy) Laall in the past use O Notice the change in
the A,

walal) & ) dlaal) ralall L8 diaud) dlaal)
Dogdia Cuplall s - Jogia Coplal
B Eud) cils Bama bl oS
CRdgaga olalgll s (OMgaga ol
Ot Gl els Ol ol
<Ol ¢yl 08 SO graliaa eyl
JAETACA PUA PR IV JFEA T s Eladly Sl

Gapaia ja + Egha e = Tuau) Ales + (IS

1) Change to the past tense: talal) ) s (9
Gafiee Col€) 13 il LT cahal Al Jaall

Nia Laaaie gledl) LY Byual 33 oda LY

Adyall oda 8 Gl clidl LA zab il suhall maliyll LY
cOolcan e LY ol L4 daall ) olseae il Lt

NI FEORA T R i eraina el )l Lo

Y kel




2. The following table shows the conjugation of (S in the past and

in the present tense:

s~ oS

&)bb.d\ g.a.'al.d\ M\ EJL'AAJ\

saiall

S| B ] oad | GasS

QsSs

alall | jadll| £ laall | alal)
G| oadt | As | ok
i Qusy | Ll

1% s

gbﬁ <

g |5

S| G | e

e
B

e

s At

alal) B e Alaal) | aladl 8 A ddaal)
Juadl) A S Juail) A s
Al el Al o
Aiaal) a ldla LS Al 6 cludls L
Gaalall b ool bl Gaalal) b olidls La

B & e 158 Al B Ggliiia s i
el B (R Labpad) B G
. lae 38 CeY S lias 35 &eeY Cuil
agine Agllla S agine Al cuf
LA le Crpiaia LS ohale laua Lawf
A e La A olibaa Lawl

N Juaill ¥



wala) 3 L) Aaal) | dalall 8 diadd) dlagl)
AasSall 8 Saall g lyjel S| LdasSall b daal) gyl i
aodll 1 b aley FiK| L sl e Gile Gl

) b S el U o
e b gpadls ] e b gaulls ga

2) Change to the past tense: talal) ) sl (¥
Lalall 138 e & L1 Aaalall 3 (Dla aa L)
Aaalall oda 530 4 LY JE) 13 A5 LY
3)lea Alina il LA ceedl e ohalie La LY
A ale 8 aiadic aa .9 P YOS R -
ol e Y call alal (g ylaiia e L0

3) If U\Sis used with a 4yaul las with a fronted predicate, ()\S is invariable.
It may, however, change in gender to agree with its subject. The following
examples illustrate the rule:

el B dau) dagl) salal) A L) ddayl)
 xe 08 E als
(IR oA O C(PSRNE (AR
B‘)lﬁu = CI.“S/OIS 'é)l:z...u (e
T:):\ES&_IES‘;:.AC.\J‘S/OE .SJ:\:..\SE._\:\S‘;R.A

Yy dall




3) Change to the past tense:
aebel ¥ palidl 5yl
(Oluall A ohaS Y BS Slla
8 gy K e

4) Change to the past tense:

388 28 Liie

)

i) 8 lalls lida)
ol Sy 8 Alulye
) aa gl yaal)

REICH ARSIV

By Al lavie .

Al Ja Al a8

Y
AY

¢

\o

A1

:alal) ) sl (Y

S Glaly gie

Jaall 8 8,58 JSLka aaie

sl Rinia 8 g Jlie dlin

) ) Lgl3a (4

dnalall i sepal

cabidl) Baalia day Gilapmas Gl

bl g ys )y aly llia
388 (Sl
el (B (y5d5a5e ()5idagal
¢ painall & @bl &l

I il



(a

s 3841 |glas

5) Complete the following passage:

2

Jale

:.:a
u -

e e

Bsall ol ftia GlS Ladic

O LByl

-

Lo

Laal)

Yo



1. To refer to past actions that used to take place habitually, ¢\ is used with
golaal) Jadll as in the following examples:

(past habitual) jSiall palall

P
2 la JS dalull cadf &S ealdl Capall 3w
a5 US sapall Tg1 ug okl ol & =
ol S Glanal lidaad Y g€ pald) ouhll Jocill (4
s IS Slagpaly Al OIS call Pla

2. Another use of QS with g _laall J2dll is to refer to actions which took place
in the past over an extended period of time. The following examples illustrate

this use:
(past progressive) jaimal) (alall
s A
aptlall Aol 8 i) b LS
Ciguall juasy of Ui aledall jeaf Eug m
) Jo Levie Jaal) (g5 D) oS

Yl il Loxie Loyl 7y 3691 G =
s ouSiall alall ) Jaad) 1shsa (9
1) Change to the past habitual tense:
el b ,LaY) i s lie qaal )
e IS Blasa Yo AN Ada LY
olaa JS JLaY aya Y el LY
celine JS Bogill o Blash apal . ¢

I Jeadll ¥R



gl U8 daalall dspalas il L0
sl S Ll 4 Al Ay DU Ty X
e JS 8 Lyl Ly

By S OISl Gl (8 ay)Sy aldia (ulay LA
sl US Ll 8 JSlaal Q.4
sl JS Gld o BaaY) aliy )

cdadl) LAY ) (Ol iy )Y
oppeal A (s A DY

tlall (B LS paiusall pualall cra3ll (B Jand) Jolas] (¥
2) Complete the following sentences using the past continuous
tense as in the example:

gla IS Ll sapal) Tl &S cald) ahall Joadl) 3 2l
e S bl Canall %

LSy

..QKJ
o S ol plial)l & LY

e saly o O e i Laxie ¥
. ek

e ol S Ungye i€ Lavie L8
v 1gilS

L anlsy

YY)



e S a0
_— UISJ

2

&,

tAY (g LaS el (pualall a3l (B AN Jaal) |slas (¥
3) Complete the following sentences in the past progressive tense
as in the example:

e 5al€y DU (IS Caall 3 Ja Lexie 2 (Jlia
v BS BN ady e )

o & i J o JE LY

e S Slaall ) Gleag Lavie .Y

e Ol ) Elag Lavie L€

ol KAl Ol Jas Laie L0

O AL AT sl o sy 1

coo O Al Gyasl Ladie LY

vee O OISl Ak il Crenl Ladie LA

cee O el (e LA Ladie .4

Q\S ﬁd\)&\ At Ladie L) e

PR o Jan Vo LgS) L pdaladl ol B AU 884N Lelas (¢

4) Complete in the past tense. Write at least 10 sentences:

e Sy AL Y] Aaalad) 8 Lappall A2l dgna 3 AU/ WU S

I Juadll YA



;A0 5,840 |glas (o
5) Complete the following paragraph:

el A Al oo Say Jale
Jee Cua sl Y sally ma Uil AG0Y1 el 3 13l i€ Laxie
Sl ) ety cu ol 6 Ayl Al i IS L algef dused el Latiga

Y4 dleall



Ya

I Jaadll



1. To negate 4sas) 4laal) use sl which changes Al from gy to quguaia,

Qyaia a + gohsa i = Lpaud Al + Gl

Sl QU 138 O QS 13
Sl G S 13

D 8 e el UL

AU @ yadl) Jas e o Jlaiiaaly 00 Jaad) |5 (
1) Negate the following sentences using ¢« and make the neces-
sary changes:

ol — Alaal

.wtmg@&w BUTEER

i s Gl 18 LY

o) Gl geadia sWsa LY

yall 38 daals clialuall g

e slie b olulls olagyll Lo
clialiad) dain Ly o sbilite il limel .1
ol dise jgaal il puadl LY

N Agle saaall il LA

OB A gra Can Geuale DY .4

¥V dlal)

L]



2. Following is the conjugation of ! :

=

alall Jail | padall | oalal) Jadl) | jpacal) | oadaladl el | el

Ll | (S L
Lasd L
A A b b

LA

Aralall 8 ldla La =
gaal b Baluf add (L) < PPN X LA RE

AU il Jas g €l Slatiaaly Y Jand) i) (¥

2) Negate the following sentences using ‘" and make the nec-
essary changes:

ALYl gl gas) 8 slube pa )

LIS o38 e Gl LY Lobaas olidls Laa LY

Ayl o8 A 0l psibigall aa LA sl ) dalay UL
P EYOR A I Aaslall aadas G L8

LS 138 e sl gl Gad LY e il Jaa 35S 8 L0

Saall dbdll Je sdilge s LT

I duadll  YY



3. If s is used to negate a 4saw) 4aa with an indefinite i¥iw and a fronted
predicate, (! is invariable. The following examples illustrate the rule:

-

L]
cOaES Ol Juall) (b ad e (5 IS D Juall) B m

DU S Bjlantl o3 B il e DU diS yladi oda b

ol Jlaaialy 406 Jaadl |edd) (v
3) Negate the following sentences using ‘o«d’:

:\SBLFa.A .0 2..3.3):: J}J:‘\Lﬂ)&l‘b&‘f )
oY a8 el Gl 1 Apadll oda (B € jeaal LY

S o CO agidd & LY A 8 Aigee l<a llia LY
S Jee Ll LA Al s 8 el gaie £

AU il Jee pa Yo Lol (¢

4) Answer using ‘no’ and make the necessary changes:
TOY) aiskie 8 dgase bl Jafagadll 138 b (ygure ail o L)
fade Joilill alipdl 138 Ja .Y
fma Coball 13 Ciga da cclfy b LY
Al iy 8 clas dagie olijul Ja Lt
f2A (g padll sakall Ja .0
Telaa i SH Ja .1
WD 2wl phadl da LY
fla Jsaadl Cul Ja A

Yy Al



lglsaly oS — Alaa

geaie 5d + Egha e = Tuaul dlea + (Ll s0a) Sf) S

Biagda Coplall 130 S e fopdia Cuphall faa + S W

B Eadl cinnal < B Sl + mual  m
o8 il Gusell gl ) e e—— o 3l (el g + Jh L ®
SOpsaga Ol Gl Osase lalgll + Gl
o laal) s Ll Ok Al oga+ (o

A

A

IV Jeadll  Y¢



Ay dlin cul [ ul < Gl e Ty, llia + Gl

Kl e

) b G < ol gl + oS m

in ool gy puad) Jb e————— Gl ol poadl + Jl

L DUall agh
el Rl gl Emal e RIS Ly el Aall) conl Ul 4+ el
gy Ol I Y e—— il gy u OUall + Iy

ol
Jba ¥/dD L
gladl | ol | sedll | gladl | ealdl) | el
5 Y &) b &l Iy b L oA
SIEY | bl el JpY | &bl |
oY Y Yl [(USk) Lea
Ny Y Ll )
i ’ Las] L
O¥IE Y a6l L _
(Si54)
GlEY [ Ah L o Ol Y 51 L ph
SRy | Ehl || By | bl | e

Yo ilal




AU chaitl) Jas ae Aaa JS Ao B ¥/0B W 1t (0

afy | &bk ui
iy Y ulj L ol

1) Use ‘Jiz ¥/J) W and make the necessary changes:

A 3 Lgagd] o) culalS cllia

Tagre il Ja

;\S‘)Aﬂ‘ o..m‘éju.byﬁ

508 Hlas aSaic o
Aaall gy JULY)

DS 4l

AR 238 Tsagdy o (slslag
gl oS Laia

Aaaal) 2 Ll (sl

e

R

VY

Y

¢

yo

A1

Y

A

AW o3 3l sl

58 Y Aalay o

LQraine Aladl o))

Al b Lea

Ao Aaall Jasg & led
Neale Lumin dujal) 32y pall )8
L) 3 U

S dae gl

FOtsdia (el

I Jeail




J'a:‘. ,.,niai ‘r:u.i J:oi 4—.ai J.ﬁ
i | et | oal | opid | sad |

(US) Lea

(550) Laa

o

v

Aaall

bl

R

a,.a i

1.’:6 i

AU sl Jee pa Alay JS o “mal (slan (¥

2) Use ‘axal’ and make the necessary changes:

CCalas 4 oSl gl gl

BS A58 b Jeall Lap ol

el Zalll Ay iy o e 3/ Ul

oliaY) A dle dlagy e agdsian day (eash O




Alsh sae 3 MSh Al Lt (laila Lea
sl Jren gal
oyl LAl e casa @lla
2 la JS 55l il
ApaSay) b Canall alina bl
Agall Al ey DUl LY
oLl 8 ALE (adle Gl )
el OS Ladl ) olady .

E)

A

.4

L]

\

Y

| el sl

% ot
<l

o
N K [
o o o
\ \
\ \ E

(Sa) Laa

o
o
\
E
=,

(8i54) Lo

Ry
1 e

. o

\ X
L

accall

LAy e e e AN
AT ACE:

s ul

BB |5 e ¥ B|w )}
B2

I deadll YA



ol cptliall b LaS OB cpalentionn Slan 15338 (¥
3) Form sentences using ‘J¥’ as in the following examples:
Ml danll) delul) s Al cdls a «—— b+ O+ a1l
cle b o Baa) g Islla b —— o+ Jh + a8
Lapet Jbt a0
oda + OB+ O LY
Okt + (b + eiaall LY
Osalla + Jb + lBaaYl Lt
ol + Jh + Pkl Lo
Laalall oLl + O+ dayall Jlay 1
Osadiae + b+ daplall o))y LY
Al Jl+ Ul LA
Csuatll sals + Jb+ Ul L4
e+ b+ ul.ys
U.UJ'*‘JL'*";Q.\\
Giay + Jb+ i)Y
dAg+ZjJ_;.+eA.W
Cadal + i+ gall V€

4) Complete as in the example: r Gl B LS fglas] (¢
5 Cally S Gupdf & ke o

sl JS Ladl ) (Caad) 5 )

S o) e BS (B)) 5 Y

¥4 il



s Dl () ;
ces OS Cpspyaalil) (3aL3) 9
o2 le Al e Ll 3 (L) 5

Sl Cally LS Gupal Eaal (Y1 (1

el sy AiS) & (dae) S
ity (galaba (&) ;

Ll e 1 (350 g

2l 3yde Apalal) deludl any (L) 5
S oLl 8 i e (aciel) 5

sl JS Ll ) Cad) Eile aly

S oY) e DES (JS)) 3
s D) (“—‘5‘) 3
s IS Al (0u)l) 5

il dejliaal) Jldll |olasf (o

5) Complete with an appropriate & JLaa Jad:

zenal (N5 ¢ o o8

Caanal (N ¢ ol cuils

adly L oY W REHIS
PUTYE daalall & Da)ls
enal Y1 oSl ¢ Aokl

IV Juaill

£

.
—



6) Use o\s or one of its sisters: Hglsal saa) of oS |glaatiad (%

RV RPN .

Vigraa dyyed) 40 Y

byl A demy a9) J

S o1 JSE p ¥
DUl gagh Jia cilajiall o i 530N .0
A Jlguad) o gl (V

7) Answer the following question:

adde i) Lo o3 Loy iyt oy Cilgi ) v e K G rpmaly Jf Lag OIS

ewaly J Lag OS Dslaninlg g gumgall 138 358 1508) 0N s

8) Who am I?

OsSis Al e [ el [ OIS (perdives 558 Lgie 155805 5) ek Apad i | U4
Pl 580 (50 e ST L DILE Lo

£) dleall



\gilsaly &) — Alead)

Ehr o + upala i = Liaud Alas + (W@l saa ) &)

O
/ \

ridand) Loy AL
SOslsidie Gpapaall &) 1l
AN g8 S8 Jadl) asy LY

&

comiye A Jaks g e
e i) any day ¥
Aape ) G sl Jumill e o 1l

&

I deadll £ Y



Ly

1 Jie d\aﬁ?\ Uar g L)

G- - - R - G - - bi- g
L&y_c}a—é@j_}lc\—ﬂ‘)di—ﬁc\

Saa alall aa 4 &

e Cfpuntl) (lamy aay Y

— aseiall o = Cig el g0 = Bl (g0 = sl 10
SAL sl e

sl Ola sall & malgll o
s daale 5aEN A g aall e

sedie Gudal) 13a G) «—— seia Gulall aa + (Y
1aad O SBEY & . e—— s oS JBt + &
Layye Gl EY ..o —— Bimype Gl + BN

OV gt gaie E80 L. e—— oY) Gupd i + (S
el i pglel < ol 5 g+ O

AL Ll Gsn «—— BSle a + (8

Laall



A ALY 8 LaS Laga JS ey udlly Tl 1gada (9
1) Determine ixiwll and _:Al and the case endings of each one of
them as in the following examples:

ale) SN ale) Tl Laa) Laall| )
Uon 42t | Joaill | opeaie] SO el DU | Y e
e apd| Junill (B ipmie) Db B Juaill 3 3| Y Jla
ge| e Gopaiel Godl el e ool 3 G gl
Aalad dlea < il sl () ] ol il L ¢ Jla

s slall

-e}i-“)hﬂtejﬂ

DS Lelada 42300 3 (S

paledels b i Y

LIS ) s

el 13 sas aldS dln G Gapel
sl CuiS el Culi Ja

RIS RVAVE PN

Jwaela G cpag cllal

Alew 4 Ayl A G Gagpaal) (g
syl ) Aay @llia G Seans Ja

calladl 8 s gl sl LalS o

JsY Juadll

A

A

)

\

£¢

\
¥

Y‘



Gl LS Jglas] (¥

2) Complete the following sentences as in the example:

(€.

(d2) - dgms Lol 138

(& laas) il b 530!
(& Gel) .palin Biaa taal
(J) -psl Jsan 30

O s da) Lasll Gane Gupsal) 1 e

sl Gane Gupdall of s Ja
ik (Ja)) LS 3 Asyaal)
Y (Cal) A L dgase )
A (G cel) as dala 5yall 528

A (&) J8) . agian ae Y

Ao dme @grall ol o el

(&) ) ()

sl B LS |glasf (¥

3) Complete the following sentences as in the example:

(Soer & o ) cpsll Ganpe s :(lha

Tosll Gape adl ot
(S pSae @ii S awl) casdl (mpe WY
(& Una) 58 355 B opifu o Y
(BY dual 8 L) Ll b Laa Y
(& Gel) . aa Gl g
(& atin) gyl A2l agae b il a8 L0
(J=) o) ety il
(uy pae A0l gomin V) g Al (e pa LY
(B0 (Sl 58) Agpma & A
(OS) o el (of ) - oslsnita il .9

to dlall



(B8 Sla 3all) cCanall b oail ) s

Ul B LS fglas] (¢

4) Complete the following sentences as in the example:
(S0 O s Ja) o duaill & Cdla llin :Jlia
$aill & Ul llia o oyl Ja
(&) ol oLl ol cllia L
(<) oY) Gusals aa .Y
(&) S dae el LY
(& o) oSl b Calage cllia g
(&) oS Gl ikl e o
(S0 O caps o) LS Sl s LY
(Cul) 58S a8 Livie Y
(& zezalsll (30) wasall allall 88508 Lpaal dypall 23l LA
(&) -pclad) (e aae daaladl oLl .4
(& Cays WS) Ldaalal) alal ddaydi Jlay cllia L)

SN
Z &

(Jr Guly) Ladla Aane) Alen Wity (1585 LIl a1 )

&) or any of its sisters are always followed by a 4saw) 4laa (never by a verb).

IV Jeadll £9



:JUial) (B L fglas] (o

5) Complete the following sentences as in the example:

(& Casymal) (s) +oppnd) allall Jassy & juaa ok :Jla

cooal allall Ly b a8y O Cag el (50
(G B Y) asll olaia¥l OO 3 Y LY
(O cospiil) & Laals) cural) ehyhs Gy sl @rmaall Gull Jiind .Y
(&) cald) Aial N 5pud) bd IS pumagu .8
(&1 JLaY) L Laen) calialudl) 2y Udaas Baige Glust)ll sie .0
(O Al agi 3 yaall) el 3000l g (DU HIS5 .1
(& dmpladl 555 ST Lasall clbialudl) Tag Cagu LY
(ZJ‘\):\:UJS_“ azll) (a.‘a:l L_’:A Bm‘);j\ E;\)é alud LA
(O Cagmall )-8 a1y i) el JS Cny .4

sl A Las fglas] (1

6) Complete the following sentences as in the example:

(&) qezalsl) (ga) wApppadl A21l) () gaay :Jla

el Zall (g pgel el e
(& Cel) el ) aad
(dﬂ) Baclue ) cpaliag LY
(&Y lna oad o L8 Y) gl b ol i ¥
(58 gl oy ) 3Ll of gl &) L ad gl ddie aal A g
(G 3oy pa) e e Al e 1

£V dlaall



(&) -olaia¥) G adle Ay o dlas Y
(&1 WaaY) Al amy Juadll Daa LA
(oo & Gt da) <oaill ) Ay Lkl .4

(& eaalsll 03a) -l (ysagiy .Y o

O: galsal gan) of 3f o L) B8 \skas] (V
7) Complete the following passage using ‘)’ or any of its sisters:

Ge e o Gadl ddayil call L Anadl 8 Ayl i) Aase b ladil 4
taglsainl 8 g agd 4l

oY) Cugan Sy g iall Adana A Jadd CuS e : (dhaall

sl Y il 8 & S EN A Aidial)

sl e ) 4sial

13kl : (dhaall

Jacl s cdllin Jlee Y Liph b CuS 1A Agidial)

cAllia aclhad) aaf b

G Cakh ¢ gyiall 58N laa and Al 3 : (3iaal)

¢ ol S i

Sl L) ae gl Uly e canyg Ay dd 4
NEATI LeSusal €

& Adall lagatl) e Chdye 1 (Gaal)

sl

el A0 3 5pa) Al 8 (U Ul cans 4G Aidial)

©) See Appendix 6 for meanings of vocabulary items if needed.

O duadll €A



03 axdadll 138 & e 3Ll : 3l
lagid) ) bl LR PERN
el ) 2 lial M8 (e

Bye @iy ) aga Coguy (V) al o kil . acocd : (§iaal)

e LS)AT

AV PEUNPRN P I P PELA R W4 S g S PR 8

8) Answer the following questions. Use ‘())’ or one of its sisters:

¢9

THES Cyenalill aaldn Y ald LY
ol Lyae A el L LY

Sz baall 13 sl & il sl LY
SOyl e siud) clls 13l Lt
Sz luall L8 i< 558 oy Dl Lo
Baa padle i Y B LA
Syl slall e ot lile LY
Satysa JS e lug il daiay 13 LA
Sl Cuzae 1AL L4

SIS any Cuda 13lal LY s

Sy yal) Aall Ly 13l L))

f AN A @) Levie cdaay ale VY

Leal)



L Juadl
\ ) isall acdlly cral) )

In Arabic, there are two types of nouns:
a) declinable nouns, or cuaall ad), the endings of which change depending
on their position in the sentence, and
b) indeclinable nouns, or Al aud), the endings of which are fixed,
regardless of their position in the sentence.

® See Appendix 2 for a list of declinable nouns explained in this book.

I Jadll 0



The following table illustrates both types of nouns:

ad)

Declinable )z Indeclinable (i

&b Andge oAl U3 uty| | rdediy cAleall A daBge iy ey Y
) iy eALenl
g8 Pronouns lazll =

O ooh s i

e Demonstratives $L3Y) ¢lewl =
oda ¢)da :(fia

BT Upeasall clanly) =

Relative pronouns

PR

Conditional particles Jayill clawl =
FREERS

Interrogatives algdiuy) glad =

Cl (e 1 ia

Adverbs ag Al jaxy ®
}-b} céLj c’Ja_) c&_ﬁ :Jia




) 1 Ml Gail) (e Lsa pland 0 g Ayma pland 0 Japdial ()
1) Find 5 @2 sl and 5 <= a! in the following passage:
Guilag (dgliiih Symma Cign ce Blhe — lel) Wl Al — daulal) dikhie culS
‘Al @as’s OV Lgisany A Adkid) s ehuadl) V) s cosall el
G e ble 48 S5 Gl e WA = Bl aadiall = de daal gl IS5
cleddl gpan g (glaally olaally o LygSl il e il b LalS Glans USy ¢ty
aalaly — Al desy — (gally Blay amy oliny LiSly cdpulinll 8 aaal) Lty ellas LS
Uans o ) con 3l Ladla — ol LS — € JEa) 1a o5 8)lae ) Jsas Y
claa U8 culs ) — A sy = ol e ol @y qan iy sg ppuaal
a8 Liang Li)lal 8535 Copmenl) 530 coas
B cumdl ol o’ 0 i
sty Yo TJA/YE ALaY) Gale

¥l Gl e cladis

) sl ) < ils &l Yl
5l Lazally Lacally
Gl agd
s Juad Y Euad | L )das BUS G RS
T ‘ 35kl
canll Juail) ) Euad | Laoal) QS EE | Gl agh
o)

©) See Appendix 6 for meanings of vocabulary items if needed.

@m\(Laﬂ‘ oy



Bl Jazdtly Ll
DU pgd ,
25 5 Yew - Zuk AT w &‘%
2 GO e s Baaa LS G ol .
0 olal) s CaalSs | saaal) GaSY EE | B b '(6)
ol
8 paslly B paslly daally
il e Eads ] Gl g
claa cldls S )
Sl ' ’ -od)
) . aldlal) &l Dadpal)
b} o &S EildUal) ciagd
<Glaaal) alled)
Llaaall vzt
s Ll s Ll ity
Ol aa s ) | okl g
S ol ol &8 L
NRTETLEN ’ coull
sl s Ll Slslly
T e
coel Gl pe G | Gl Gpadial) ELE | gyl LSl
eyl RIWA|

 Many broken plural patterns are ‘diptotes,” e.wg. skl | milia | (sjlaz and take
therefore different case endings for the _s_s< case. They are Js_s>= with a 4x% not a
.S as usual.



toalliall & LS Aghe) cldleg A s lad) cpa and JS B (9aaa (¥
2) Determine the type of each one of the following words and its
case endings as in the examples:

ey Adks

Apaffi | sl | A
Al il a3l

-f\}I Ji \fﬂl Ji 3‘}1 )T Q)SA Y ji \
NN Y N FEYIR NI Y
Ogde .4 Osibgall Lo Ghluws )
Skl S i€ .Y
day A ohls g

0

©) gl caad (3l Lyprall plandl) Gl Gl e lgadiud (¥
3) Extract from the following paragraphs the declinable nouns
you have studied so far:

aylall s 4 leadu (grad) Guill e Al el gl BB LY

Ayl f Jgpn sian gheas - Ghiay padl 4l Alliind Pl gpadl

o) 3y dilaie 8 calygkall ATy cpald) o LN cBall GBla
calaY) Bapa

Cijaly (Yoo pug€iVo

' See Appendix 6 for meanings of vocabulary items if needed.

Sl dadll o




Oxll (e Ay VAT ale pan ) ale elian e e AT (4 Ll Aae
calledl g lasl aran (e mlaaal) (e 5a€ dae s cdleall Al A yeadl
Lla axiiy o Aiall gld () o ity olisw Jlad Alilas e s38) a5
WP Y Byea dae g Jladll oladly oS £80 Jlgn mlll 238 dbae o
e e sbS aaly o Lgialie

(G Capal Ll Calaiia

Yool s A i saga

.Y



G Jual
alall Jadl

GAL — bl

() fanal) — palal) Jail)
(?SLUJ\) &n.«al\ g.a.'al.a.“ Jadl

gl

sl

paal

el alall alall
Ead U Coad el Chd 5
s O are el k3 o
LAl | (USh) Laa
Léiad Laif
Uy | (i) Loa

) See Appendix 3 for types of verbs in Modern Standard Arabic.

A Juaill o7



(S9agall) gnaall ualal) Jadl

by - 18
Jadt) Jadl) Jadl)
Jaszall aal) aal)
alal bl alal
& ul & & s "
L3 Cad e el &l o
| (Lske) Laa
s .
(Sisa)
s ol 5358 a
BJY o] &ba &
1) Conjugate the past tense verb: tealal) Jadl) |gda (9
(2) el alall & Jlass) (midy da Sal) 3
(i) Saaall & D) sl LY
(c&;‘) Lol Sl dzalial Osmdall LY
(1) $0Ea 128 () Ja .t
(2as) Bauaall Sl () s .o

oV aalall Jadl




(la cdy) DY & (2) Loxic Zdjl) (u) .1
() -ales dn ) ol B5lSe] ind Olagl)
(o) -l B0 aplie () -9
(BLe) SlsSY o30S (cal) 13l LY s
(o)) i bu 3ad laall (=9
(i) et oSl ) Bylandl el 5yl ¥
(Caas) Sl Glsie Shlianay (&) da Y
(ads) b Ui b il g
(p2s) Apad) (e e bl Sl v e
(s $diad) ) (L) e
(225) SRS 138 (cal) ol VY
() Sl elylus (£5) Ja VA

alall Jadl + L ) A

Negation of the past tense verb — L+ verb

2) Change as in the example: sJlall B LaS (glGa (¥

algla e Wyl 2« (8) il e dola Lo 1 Jla
(o) -l padadll 3 clsf Lol )

(Lea) LAladl) &8 Lo Wl LY

(p2) -cuaall T L Gutyll LY

(&) wasdl Isnaial Laglyysll ¢

il Jadll oA



(L) Al il e a0

() ol T5agh Le O .1

(02) -paall Glaia) Crardinl Lo A LY
() HWI e aille Lo bl A

(<) 18 aaliylan) L gad .4

(Leaal) L8 e nsalall 138 Crardiial Lo Gl LY o

cual Culad/Eilad s 380 g /i) (W

3) Write a paragraph about what you did yesterday.
4) Complete: :\glasf (¢
Soumadll agr Jale Jad 13l
e Bl g L Guadl) g IS Gl 1 g sk Jale

0q  aldll Jadl



"8 0) ikl — el Jadl

S5 %
Judl) Jadl) Juil
sasall asaall Jsaual)

alal) alal) ralall

Eidae U &aae &l 7S A

Lde ol TS ) &ae R

lae (US) Laa

Lidae L
e ail lsae b
fpae &l O Y

qasall JSA & A0 JudY) (g (Y

1) Put the verbs in the correct form:

(3e) Selasis JS (&) da

(Gainal) Aaselal) deld) i (il 3aLia (b (o) -
(3e) -daall &5l o Jd a5 (ul) .y

(L) Sl e (<) Ja .t

(13) . Lalal capal b L) S o

(&3) .Jal a8 ayill Jlay .1

@ See Appendix 3 for types of verbs in Modern Standard Arabic.

Gl Seadll e



(W) LN (Ll) Ja v

(Saal) el aps ) ALl () A

(O) -Aelall delull i daslad) Ol .4

() el AU alakall () Ja .y

(Canl) Tlagan adi (&) da

felliaal 4 LS gaigll ekl (cal) Ja vy

] bl

1) alall Jadll



%gouggm-ggun¢m

ciga¥) Jadll - the hollow verb — is a verb whose root has g or ¢ in the middle.
The chart below shows examples of the different types of Form I hollow verbs.

To be able to conjugate these verbs, it is important to memorize both the past

and the present tense forms.

;e 15 433G 1) Form I Ja¥) ¢jsh) ey

Jsis — QB[] gai

Jsiy = JB :[ gs)

iy — Jile t[] gl
ol — ozl gsl)d

Jadt) Jadl) Jadl)
sanal) Jsaall Jsauall
el skl alal
A Ui cals &l J& A
Y& | (,Sh) Lea
Léts Laif La
W1t .
(¢4
= = P ot
R

® See Appendix 3 for types of verbs in Modern Standard Arabic.

il Jadll Y



saal)

M‘

Elte uf &t il Sile Y

(USa) Laa

(¢aisa) Laa

gl

M‘

Eus u A &l ab A
= &l s el — o
AR (USe) Lea

W bl Jadll




A sV 8 Wl asmpe CagaY) el
Hollow verbs also come in the following verb forms:

piiy — B sl gl
Oy — olad) raladl cygll om
Jad— ) el sl

i — il 1 Hdlall (yll

qaaal) JSa) A A0 Sl js ()

1) Conjugate the verbs in the correct form:

(p1) -Joaill & clil )

(J8) .Lye WIS ot LY

(VL) luall (S dnaall g lss A (o) .7

(p Wniad) . duih cpype DA g5yl Sy Clasdigdl £
(25) DUl Ol Lo

(5 1) TLeSi)lans (Lal) da .1

(Sliil) 3 palaall (e IS (ul) v

(D) ASa) L Ulee (50 () A

(zUa)) ol aedl (D saclua ) (u) .9

(L)) Leipaal) (e Yoy Aliall ) Gladl (S Laa) .Y
(Lasl) Ldayal ) sl o (ul) )

(la) € sl QI () Ja Y

(U5) -l e B (gpaall Canidl (o) Y
(0) -Lplsl & CDUal) JS g

aldl) Jaasll g



(JlEi) fellee 4 (<) Ja Vo

(sl il o2 (e (cl) Jda V1

(s15) Suaill () e )Y

(JlEn) 3,80 8 e g (ul) .y A

(L)) AHuSay) e Yoy d8ajal) ) Vil o (Cu%e Laa) 14
(sle) Saa ) (ha () ie .Y

(z L) $8LED As )l aay () Ja .Y

(A4 0S) IS 3 ool 3ad g laa gaie 3§
(&) il (Aol Cauai 3d] (ca) .Yy
(alef) Laagall 1) sl (ul) .ve

(Lh) foye AT chilile (&l e Yo

@ g8l ¢ Jadll Culiall JalL £Lall 195kl (¥
2) Fill in the blanks with the appropriate form of the verbs be-
tween brackets:

Sl A Bagall Gyl 8 L 535 (3 Dl 5 (0 + )
(A1) af ds ) 13s Gata (08 + ) deadl o sk agy am

(G Loxie 3Ty @lld aay i 3l Cipel Y La5lud) o 1 U,

SEIEE VNN PREN P EE SO RUIN

(g ools oy Gy e (a5 + W)
b ey Bala gl (d9 &l ok g o aen
A (5100 S VOGPV [ 1 (sY)

“ See Appendix 6 for meanings of vocabulary items if needed.

10l Jaill



(0K) Lass () (2 + JB) el sy G Bl aglls

ol (Jostl) Enslal) iy golal) ey
(325 Qs . adiedl ) kel e (s\a) G
Jseaall iila o Aliiwe Sl 2hdl cilisili 2] G padll

Laaes Ny s g (Sl
Vela (095 (U9 s oo el

LA all

Jala casial 3 gay

e ¢lagw duia (23) pedd Wl U5 Ayl Jaslia J2 JJ6 2ey
cebe sy el

Pled 13l 1l

gia all g pde 1]

SAPRPYY (lainal) Mad Ul Ja (o (e Al

1 b s Laa Jladl ¥ Lgd 068 of o A By pall oo 5588 |ga) (¥

0 e Gl
3) Write a paragraph about the following picture. Use at least 3
hollow verbs:

(Jeas = el = Slaiad = Gupa = a6 = ol i i) Jlad) (any)

Gl Joadll 11



Cull 8 cuda (S ¢ laal pe i e adl 1oaal 0o W Say Jale

oee u.u‘).lij

W bl Jaill



() aBlil) — pucalal) Jal)
u<Blll) Jadl) — the defective verb — is a verb whose root ends with yor 5. The
chart below shows examples of the types of Form I defective verbs.

;e 193 4335 ) Form I Js¥1 ¢l awdly
h-lea:fes
it — b ] gl m
W L T
23— e[l gt

Jadl Jadl Jadl
Jsaual) Jsasal) el

bl sl alal

Erged i Eayed &l led A

Ljed ol C3ed e R B

B3 | (Sk) Laa

Wised L)
g | e 323 pa
Jﬁﬁi u-"-*s QseR Y

© See Appendix 3 for types of verbs in Modern Standard Arabic.

) Juadll A



J...\AA.AS‘

sl

ul

Latsf

(US2) Lar

(2359

paal

el

i

(k) Laa

(i54) Lo




J :
‘ AN g B Ul asage oaBlil) Jnall Jadl) l
[ Defective verbs also exist in the following forms: N

l (R T A t QG sl
\ gali) = (5L (Bl el |
| b = kel rbll sl
| S — oualdll g i
| i = i ol o) w
| g)luxg - Rl sl sl m

g - SERISTN

|
|
L

sl JSA 8 A JudY) g (9

1) Put the verbs in the correct form:

(o) ~nlsll Jae Gl )

(led) -Adiall Legiliaal S ol LY

(55) -gloall (s Auall glsd B (0~ ¥

(ead) LAyl 8 L A (u) ¢

(o) Toaaal) Clajiall U< (Lal) da .o

(\eo) Adkaiall & Coall g5y aia bys ) sl ll a1
(o) -prdaall 8 L) 3 oS 4l Gl (0=) .Y

(s=8) T 5] Agles Allae (L) ool oA

(laz) - U] Jsli s canll e canyig Balia (u) .4

il Jaasll v



(6h)  -Lesndl e Yoy dlisll 1) el (Cuiga Lan) L) o
(Loil) Salakall 138 JS (1) Ja )

(i) capf Lo JS @ial of 50 33y AY

(hel) 5aliad) clals) asen duaal (o) Y

(o) - inasy Loghi ¢l a1

(ls3) ealall (e (S L) (ag.yo

(13) S aiaY) a0 () da .11

() Touas (uylae dasSal) da VY

(Sa) lapmas ol Al Aliad) 3 i Lo JS W Lglaal A
(sh) -J8 oo Lsmall o2a JS (ul) v

(hel) Sussaldl (&) da .Y

(G S3aaadl A yaal (Ll Ja .Y

() -Alial 8 \GBaa (2) VY

(=) $ilial) ac e (csl) alal LYY

() s BaaY) AL Cua il ) b .Y

(&) ) conel e ol )l ALY

(S R0, R [ O g oullall . ¥4

(o) -dall Vg () Le.YY

() - i) &yl eluy ) paen (gpaal) Gt YA
() ~aalsll iS5 o (o) .Y

() - Jnilly 1an Caamy Ay pila) lin (455 o () v
() Aanally sylal) (o) -1

(idl) ) dunliay cellalaY Llaa il LYY

VY bl Jadll



(lea) Teliagalyl S (i) da .y

((omd) AL 020 ixa (2) Ja .ve
(laz) Sasall halic (&) 13l . yo

Foasll) G Al JladU aal) JSall £ 1A (gta) (¥
2) Fill in the blanks with the correct form of the verbs between
brackets:

8 g Z\abga‘__,:dhc
(o + a) b daly ) ol gaanl) sl e oull ae Eajila
Ngie aSiaal Cagu Aliaa LT 2D llia
o el alaea U5y elaa o Sua (loa + o) ISV sl

Calagles Ll (S + () Anlos 52y line cuilS . Zalsl) o2a

claall 13 (S bl eda e 8y

lea Liadag il & oAl cliaaly () + Ul) oluall b

(8 + L) a8 glina WL diaad) esnglly rdlal) sally atidiasiy ¢idas
Sl oladiy 5 dalll b (i + Laa) ¢ Lusal

At les)lsd

(sh+ ) . Sasly Y Ul (nal + W) 6 a0 b

(ridl) glina Gaa HLoaY) G5, Ll
(=) legdl wims) Gaall ) Loz ladie i€ Llaa U
ahpaals g Al e lalad Jadll 8 Lgiany
Liaa s buall g ehanall 8 dla s 7 luall 3 L L a9 gl (IS Gl o)
Gl 8 agile Eadie ol Jlia] (bl + i) .5agall Linsis]

Gl Jasll vy



(ot @)speistie kel T )5
Sz Bl S :ﬂAJ ‘;3:)_\.;43_9 g‘J
Bamad) aLY) S Jie A ey BDE) LLY) ()

tmalal) (B A0 Jlad) (e Aad JBY) o b |glania) 588 |g) (¥
3) Write a paragraph using at least five of the following verbs in
the past tense:

— laa = etinl = lea = (g~ i — Gl - g8 - i

ERPIN

VY el Jadll



L® 1) paall — gsipall £ laall Judl)

gobaal) Jadll cal |

sl B

pII™a e g8

(Cogmay Gl 22y) Jinnal)  m
il gl pualall = £shyall £ liaal

AAUN Y 2oy om

gaall g ldaal) Jadl) b cilade
I
y ! ]
a8 asl o Balal) Lacal
(e ecm) Lusadl) Ju) RECE PN
RTINS [ (R JRES SO -
gt (s ETTE TS
8 Boed Oy Y oa luall
2Ll

M See Appendix 3 for types of verbs in Modern Standard Arabic.

bl daill Ve



Al g jLaal) Jail

H

,
D
Gy — @

gl

£ Laal

Jsaal)

ks

Ol

(USa) Laa

(&33..) Laa

B

A
e
°

paucall

Ul

alall

@L@d&

bl

Jsts AR & ast J& 5

Ve g jlumall Jail




1 ‘“BS’S‘T

(,5ie) Laa

Py

e

skl

&dia o
& 5
) [J
é R

el duadll V1



el

13 &l ul

Cidiaall g jLaal) Jadl

Az — AS

&)L«'AA” g.fALd\ M\ &Jh'a.q.“ g.faw\ M\
i XYS el s Y3 A
Chanis aAE el ek RS b
O)aas lae (S2a) Ler
O)ARs (DRAYYS Laiif
Olaas Bac (Cuy) (PYY
fpaad S ai] ikl rS ab
EaRs e & EaAR) Sac &

A%

golmall Jil

Al XYY ul
e o -
A= EXXYS Gl




sdalial) Cag el Jlasicd & polad) ) ealadl e lglsa (9
1) Change from the past tense to the present tense using appropri-
ate time expressions:

Wiy | Glal | fdle | eluwe K |pba S| andS | oW

oY) b laladaabeadllpxd .8 il L8 1k aasll O )

fandl) apd ) cpila Ve Lageldial T dunglall ely3s LY

bl 138 5l T3 g aeal ) ALK gy gy 8 DUl LY
clalgll JS dujaall caasf Y LAY daaw o Lt

Sopadl alakall Slacl Ja Y faal) axladl 3 G Ja .0
0dnall Aalll Ay Wil e Vo Ldagludl delud) by spalad) LY
S adl 138 8 Jpalas 3L .11 c paa okl Sl LA

iaall JSAN) B A0 Jlady) |gea (¥

2) Conjugate the verbs in the correct form:

() . Aealal Allall 8 st ap5 ) Y
(@ N) PPN Y oLY

(1) cas JS Baa Allis (u) v
(Jskx) fBale ¢laxl) (cul) ol .8

() e il e saaa Ay e (U)o
(03 Sale gl s 8 duyadl ) (S Laa) .1
() Y e gl o of NARY

bl Jaill VA




- T7feT-775%<
ETELSREZREEL S

» e
L

s g ady ddas Y o3l
A el IS (S o Y ()
As )l e g sand 2y Casas ()
A o3 ¥ (U)
Ml Lanslil] delidl Jd il ¥ale
Felaas Na A2 Gt 3 () da
cyal) aaladll 122 - (W)
S o3 e ¥ (u)
el aamall s pall 8 Juadl) Y ()
caed as JS Aakay) ) (0>
telialy) dee () e
¢ jelall aey Y (Lal) 13l

A5l s (e Lea) (i

3) Write a paragraph about what you usually do on a regular

school day.

AN
AY
AY
AN¢
No
A1
Y
A

A4

LA ol agy (B Bale Aladi/alads Las B8 iS)/cuis) (¥

VA g luaall Jal



4) Describe the pictures: tagall lgdua (€
s Alg Alle e daaty dole
falkaal) 38 aadl (S

-

bl duaill AL



5) Write a paragraph about the following: : L L e 5,8 |gas) (o

falul adlile (amy & Lo Aigad padld e 1) i alale

A g laall Jadl



o)

) Jliall — gghyall g liaal) Jail
As mentioned earlier, Gl J28ll is the verb of which the root starts with 5. In
the case of Form I Jtx, this sis dropped in the present tense, e.g.:

A2 — A ad — ady daay — i
Joag - J2
glaal | ald) | pedl | plaa | gdll | el
i | &iliag &l Jos Jiaj "
Phay | ag | (Sk) Lad
ot | Laliag Laif - :
Plod | By | (23] Lk
o | il o asbay | kg a
plad) | galll | el
el &l ul

@ See Appendix 3 for types of verbs in Modern Standard Arabic.

el Jeaill AY



g bdaal) Y] bl e gl (¥

2) Change from the past tense to the present tense:

el alasl) G g pal) 3)L) 8 Aol L
Sl Olsic agd Ciiiay da

oY) Jagusity 331 Caae

opalia Juadll ) Volay oD

fUsina Hlagh danlie 285 Saag Ja

Saledall & 1A Ale Winaiag 13

SN iy 1AL

LAY Ul Lagiis Way Ll

OV iyl Byl calia

faie diady S Lﬁm Sl Casg Ja

failla b g o S pianiny b

oAl G 420N 8 S S Canaag

S Cllg pusal) gang [

s IS Glax 3 s ol e

A

9

N

)

AY

'Y

&

Vo

‘sl JSa) B JladY) g (¥

3) Put the verbs in the correct form:

(<ads) il oLl Cagas (W)
(25) Sousaldl) b ALK ins (&) Ja

(<as) a5 IS U el il 8 Gyl

AY glmall Jail

A

Y

o if



(o) -l e il oty oS

(Jums) -lae aalal) Y sl Gl
(325) -ps S Juaill e 5a (B iy ol @ .
(2n9) Taire Lidyaa ddpla, ol
(Jay) HEN deludl 3 S ) Cagas (L)
(iig) $OY) Juadl) & Congy Ja
(Josg) Soldia Lctin )
(&8) - e 2 Ll
(23n5) TLusaldll 8 ALY (Ll Ja .
(&89 <ol e (G SyyaY) daalall
(Jums) T o - (@) e
(Jag) Y ol deail) Y Gupaall da .
(iig) T3 el e oLl Jalal dunal
(ady) - duadll pes M
(ads) S3,8lal o
(e8s) o) (e 4l s
(29) -iSall e 35l A

A0

V'Y

'Y

¢

Yo

)

VY

A
A4

Yo

t0an (b Wglaaialy Cpmigill G ) yiladall ga A0 Jlad) |ghea (€

4) Conjugate the following verbs with the pronouns between
brackets and use them in sentences:



(24) e
{laty

L

%

(C..u\) SR

£laall Jadll

Ao



() LigalYl — ggbyall £ Liaall Jaill

:elesl AU ) Form I Giga¥) Jadl) cpe Jo¥) 0138l anidiy
Jsy — JE [ gll  m

iy — il [ gl
iy = liclel gl @

J s — 0 1] g0

gladl | pald | el | plaal | bl | el

I At &l I Je o
Crdofs uls el U5 &l o
) ‘ Y583 VB | (,Sh) Laa
e LS Lai :
Vs Gl | (Cadisa) Laa
Cysts Als ] Csls A ab

E

gliaall | palll | el

RE s i

® See Appendix 3 for types of verbs in Modern Standard Arabic.

el Jaill AR



M\

Latif

(US) Lea

(259 Lt

aaal)

ul

sl




sl | N VIS P o

G| G &Ad Gl G &
&JL&A.“ ‘_,.fal.d\ M\

Al Eas U

A Y B Lyl asase cigad) Jadll
 Hollow verbs also come in the following verb forms:

Aty — G sl 35l m
Slati = Slasl sl cysl w

Aany — Hua) roalll el m |

| At — Sl 1 k) o) m

L _ 1

rbaall ) bl ¢ lsisa ()
1) Change from the past tense to the present tense:
Jaba dsldl) A.c\.ud\udw\_d\uﬁﬁﬁ A
sl As )l e lae  Slaaly W LY
e Al of Sagl oLy
Sl & &S A L8
i el pae & Cle & .0

cUape ) Bpaall Sl

bl deaill AA



S L sl e Ja
O 3l aa ‘éﬁ \_9.(1:1.::

fasaie (e oyl Jla) S

£ daill 13 (e il Ja

fopadl Canidll ¢y da

obd) gl Byshaa () alld (8 Gasll L
sl Legilsn (g lale il

$ae il el ¢l Ja

AN

AY

AY

AN¢

:ggyall golaall (aill B Jlad) 158 a (¥

2) Conjugate the verbs in the present tense:

(0) -5 Lue Fusaludl ALl & o) 4 (u) .
(<ala) $all 13a (Ll Ja .Y

(J8) Ll daga) (e~ ¥

(pb) S0l b () s ¢

(O) - cAY Ul Jd Jeadll 8 335050 (s2) -©
(alef) $as<al ) ) () P

(Jinl) alee (g s (8) .V

(i) oY Cagus () A

(Aliiaal) . Lagind )y 1S (Caise Laa) .9
(Gils) SIS (e (USke Laa) da .Y s

(ab) ¢ (wol) delu gl a0

(L) ol & sau) uad) s (o) Y

A g lad) Jail



(Jb) Saadadl) ) lina

(2B) e dia a LN b
(i) s Juadll 138 g0

(J8) -paall 5 0 S

(cliu) -Gils G,

(a)f) + ) Ayl
(dlii) TA,50 020 b llee (e

(ale) 912

AY
N¢
Ao
A1
AV
A

A

tdan b Lsleniay Cpmgl) cp A Aladall aa A0 (Y |ghpa (¥

3) Conjugate the following verbs with the pronouns between

brackets and use them in sentences:

(o) Pl
(p2) Sl

bl Jeail

9.



@ 4 atll) - &9.‘-  yal) F - laall Jadl)
bl &JVAA.“ Jadl) gy clade

v

!

!

(i Ol g 50l Laal
(e ccm) duad) Jlady) U RTCK SN
Gy Y 0 Ll ezl e claa) (o
JA Slal ) (& BES Wlada (gyidy s
ateBaal (el Cigu LAlall
Alia)) )
oy - el
gladl | palll | el | piladl | ealadl | el
e Eased sl ey lea oA
Cpe G5ed <l e Eiey b
) L ) Olse bed | (uSh) Laa
Olge i Lised L
Olse s bed [ (&isa) Lea
(s 523 ol G5 563 o
Gyse i GFsed &l O O3ed &
gladl | gl | el
el Eased U

@ See Appendix 3 for types of verbs in Modern Standard Arabic.

N gl Jadl




saall

N -
= C'_ﬂns‘
(b sac] i b
— &l b
o~ ..’/ i | .. 'Jk“
o \ \
Ol | s ;
= ﬂ..’ ;
J
R

Ldac

(US) Laa

Olidash

tidae |

(i3 Lt

e

% :’I i

paall

ul

bl

Jsaal)

g olaall
- % -
Gyt o (e (e
,:/‘2:- -
Cratd Dt i ‘;uu: u-w’ | ;
Ze ‘;‘3 .
- - % 2
..:”. ‘A

abll Juadll QY




Latif

(Sa) Laa

(uisa) Laa

.8

e e
g \4
\ \

By ‘L.

M\

U

» %% ‘.:”. C};-‘.

gl ) ptlal G gl (

1) Change from the past tense to the present tense:
Al Al delil) 4 sl Siaia
Al oLl day padadll 8 Ll laaaly Ul
PRI PR PV | XY S PR
aisal b Byalaa 53 Cdll
a5y call ol G Ja
SUE e gLl 1o 3 dudie Ja
Y gl o lmey ugl)
oY) Jag of 335N Gga,
i) dysraa e 1585 DL
ce)aall danal il 13 A Sl cuy LY
cAyaall Glalgh JS ke L

W gl Jadll

\

A

A

a

\



olal i bl 6y Liga

% laudl 534 iy

hacalall 3laY) Jsiamal oyl

ool ga Bla Ll glinaall oia .

Y
e Y

<1

Yo

1es8yall £ laall craill B Jladt) 198 pa (Y

2) Conjugate the verbs in the present tense:
(rd)) cdaall 138 e e 2l IS

(=) - Ll lajaall
(hel) Tas JS Aupaall il

()
NAREPIRY;

() da

(led) laal) ) elBaal JS

(<al) Ja

(s) Alia dualdl Aol 3

Y (u)

(rsl) 1Y)

(25) 13k

(i) 3 aglas Lt
(o) $La2ldl) 5laY)
(&) $adaal)
(o) ~clajiall JS

(u:ﬁ) o
() e

(o) - loudd (b puud
(=) fedls
(onmd) Sellia gl (mmy
(le) ASaa Jale da Y

(cs3)) - eisall 2my ui ) gn Bl

(i) fLiliaaly

(=) -
AY

() o
Yo (Laf) il
Sl
Chgas (ypiinrall
(L) e

el Jeail

Y () .

AR

AY
Nig
o

A1

q¢



(coid) aladall 13a () o G VY

() -suaad) culajiall Yol A
(12) 5al & d alas) e sl <04
() -elitll Ay (Sls oSl g oY

POl Al CilalSl) folaniad LA 5 guall (i 588 |gus) (v
3) Write a paragraph about the following picture. Use the words
between brackets:

& dale Jaiy L

5 pualaall

= iy = b sy
-l - L ey
(-or Waay

-

10 g laall Jaill



W Quaial gilaal) Jadll
1198
gLl Jadl)
poya gl g5
oo Gsmaiall ¢ 5liadll
g = -

o= [ G S) Y

Y e/ 3E /2

polaall Jail] qual ciladle

v !

(e Gl s
(el ) Asedl) Jlady)
> Ol s ezl pn cLen)
iy (ol el
lpalaty (S 19 puan
el A

dasdl)
‘Ui c&ﬁi cgh c_,A)
(0=

el Jaill A%



Ggpaiall £jlaall

sl

AV gyl Jadll




el JSAN B sl e s 1) Jadll g8 (3

1) Conjugate the verb between brackets in the correct form:

() Aadlal) Alaall 3 el oy ) o)
(19) o5 S B Allie O e ()
(dsas) DS Axalall ) o Gy (cl) Ly
(Js) Aels day agae ¢ladl) ol a)l g
saslll deludl Jd ) Y of duadl) e () L0
(&)
(02 Y el RIS A
(2¢3) LA O Nslay .V
() el O s Ja LA
(A1) LAzl 52 Of dastasall (e (W) .9
() ¢ O Csug e ) e
(1) RERERCAY W YT () e )
(z)ins) al) L ushall asll 138 any 1 Y
(FUal) A 8 pedldl e US ) (&) oY
(ale) (Al 5o Al ) MENRY:
(&) oYl O (Caise La) Vo
(2b) eyl O Qs da
(o) Els el delu) & i PSue i VY
() -3l cilajiall (L) & sagsal e al YA
(i) el oLl () S omas da 14
((s9) oesill oyl 8 Allael) (Laatl) ol Y

abll Juadll  aA



A0 ALY e Y o gl (Y
2) Answer the following questions using ‘no’:
¢ Jaal) Gq ol Sadue Ja L)
SOV aSiged Ly Ja LY
Al At Ja LY
Sl 3ye a5y Y DUl s Ja £
AL Lisd) ) lade da .0
Baaleal) clugyll adgss da 1
fcilialsl 038 JS Ol Jargw Ja .Y
SOV Gusalill Y liais Ja LA
sk alEl b Gladie Ja .4

):.\o_).ng_s;\)l\ da Ve

sl (A LaS Cpangl) ) Jadl) |glaniaalg AU ALY o \gual (¥
3) Answer the following questions using the verbs between
brackets as in the example:

(bwy) ¢ yme ) UL WA o la 13l — s e

Al Bl pepad peae (Y gsls O 2V —
(+3) 7150 Nﬂ\w(aﬁm B
(=a) V) i I LY
(dSLJJ i) Sl aay LyndlKl) ) OOl caady 3L LY
() T o3a JS iyl Ll g
(dla) Sl low il .o

19 gl Jadll



B

T2 S 3 st LY

(Jssiny) Casdl Lufiyll pas 3Ll LV
(ady) $oauaa 3yl g daal (g3l 13 LA
() LY 5y ) ol a3 4

£ gl G a8 Gluadas 13 LY

—_
€
s
~—

gl O @ Jadl) folania) LAY Jandl |slas (¢
4) Complete the following sentences using the verbs between
brackets:

() - S g pma Guisaall oVsa S )
(2 ) o Sl 2y LY

(=) o csiad Ja LY

(osidl) - VI & Jish S ey .8
(k) 130y e J) oWl cad Lo
(1) - i Bus edle G 1

(deay) - o i da LY

(slef) . o Jalad Giguw A

(skel) - a2l oda Jlagi .4

(<) - o s da ) e

el deadll e



gobaal) Jail

) gasal) — agjaall g Liaall Jail)

2)g 8

el B

pos™a gmia g5
5. FPERATIPIONT
aalilly = :/
‘)A:)“ ?\1 =
el g sliaall a cledle
! ! !
siea o i s
LN Jacadl 1yl oy \galsss ¥ Caaidl Y G df ol
ol

©® See Appendix 3 for types of verbs in Modern Standard Arabic.




s - - -
o &

iy — G

& JL&AS\

£ Ll

gl

oy Lsand Qs P% b

Lyl

bl Jaail

\

oY




sl JSAN A Cmasil) c o 2 Sl 1558) (Y

1) Conjugate the verb between brackets in the correct form:

() . Analall Allaall b geadl) 035 ) & (o)
(dsla) sl 13 oo Al ALY
(s) AL G 4] Lalaall 138 Y () Ly
(i) ¢ bl g5 Al L () NI:
(LAb) Il 350 e Y oSl (ga .0
(L) e guasall 3gy aaf (ol N (5 B
(02) cay ol 13 A (o) LY
(+6d) SR (ga e o sl (i) A A
(Q) sk iy e Legilipaa ol (Caise Laa) .9
(<)) O3 ol 13 ) (L) Ay
(dsla) byl o283 AR
(=9) LY el () % Y
(L) camy Alayll b el asy) Al (ul) oy
(aaL3) oo shlall (o) 1.
(+69) fallpu (Laatl) Al
(dsla) A gagdy Al 4l malgll (g 11
(O) Gl G sgh laaadl) 13 b () Y.y
(=) iyl ) radall (iany A A
(Lil) sy ) (L) AL
(<axe) Sadlall & 50 53la) Laie O (a) R R

Vo¥ bl Jaill



rJlial) B Lag A 00l) 5881 |glas] (¥
2) Complete the following paragraph as in the example:
A s o ay dlae (Sanl yaa (il gla agll LDl Cay b cKus Gl

Al Y il L ligliony ¥ S ey VT om0 £ LAY e
b bl plimsin canl Y Lllal) 1 I Y <« i+ Y D

NS
SR e Y
Jaxiad + Y .0 ol + Y LY
g+ Y LT paanl+ Y LY

AR e oLl D (Sl fledady of @iy e i Y oAl oLl dllia Ja

A1) 588 |glasf (¥
3) Complete the following paragraph:

oy wa alad (Y1 il (D) 13 Baw palal glaie¥) b ehiags el
Plgdai ol ) L) o Lo Ldagdl oda o cilias 13l S,

S+ ol Lt oo+l (L)
Lis + 1.0 b+ Y
?€_§+e].1 tal.u“*‘?l.\‘

gl ol ) gAY L) L

el Jemill Yt



07 ) Cikaall - agiaall £ laal) Jail
Cidaal) ¢ laall Jaill o Ja cledle

¢ i ¢

(i Qi) Cada dandl)
(ol o) duadd) Jladl) Ll ol ¢ A ¢ )
Lk (Vg ol G || (a1 bl il can Ly (oo
PORPRPXE RN PN Lu)s.a.:.'a_"aelga
Lo ae
S g olad) £ oladl)
k) Jsaual)
sl ot gzl £99,all
K Ai.; KP 33_3 KYS 1)
3G [ aaG A5 A &ae o
k¥ 2% AR las (USa) Laa
Ja%5 Ja%5 ol e (Ciiiga) Lot
e |52as (155 ls2e o
pece pecey pece G b
3 [ 3 A5 A% Edie &l
(2% P il EAXYS el

© See Appendix 3 for types of verbs in Modern Standard Arabic.

V.0 b= Al J=all



a5 Ja%s A% Ldiae Laif
24z 2az 2z - L e
gzt J Azt Crsdas PUKTS asd)
u.)l..\.aj ud.‘.\aﬂ USSL u:mr_ U,ﬁ‘
54 % &4 % 2
Ael [ el ac| ac| &dde (&
2 24 2
ACPEARPE A KPS Laie Cad

tenliall JSEN (B Cpensl) (s (o 1) Jadl) (g (Y

1) Conjugate the verbs between brackets in the correct form:

(<L) s Gy adl b Al oai
(22) Ngaddi o 8 a8l Ap LY
) oY) alalall Y caSlind (e LY
(xu) BB ) KU
(L) Ay s e Al Abray Jale L0
(&L) A Jale G Al cliasyl 1
(3)) COmiaaall and GL‘- ?S Loyl elyyy WY
(Seinsl) Agipall 420 A Al A
(sl LS 1as Y lSlad e .4
Gy <l o ) Al Ll salieys Jalad 3y clla LY

(2e) LA Bye 0siiS
(3e) V) Al alas (o) APAR
(<L) LA Al ddayill VY
((@N) Taladall 13 () Ay
bl dadll Y an



\

Y

golmall Jail

O s aaly e
NEPRINFAONEN |

Al (S Laa) N 8

o dualall oly35 .00



T 0) gl — agsaall giliaall Jadl

gl g laal) Jadll o e clade

.

|
!

}

(6l <ca)
casall Gl ¢

Qsdll ada
Jowadd) Jladly)
chl'xi ‘CZ_\.J c‘»z cLaA)

(s
(e Jaadll & Q,.aUS k'l

+ ddal) Ciga Cids
* o gS ]
‘L'ai 4[”_\.'5 cgst 4‘9&)

(s
) 8 ¢ ol U
el

* With the following pronouns (s Ul ecl ¢« 2 ¢« the long vowel of the

a9 present tense verb is dropped and replaced by the corresponding short

vowel, e.g.:

g B

gisi ol (A

I RT

H.:.?SQ;_.!

3ol il —

ARTRY

Ol (g

Al Ul

Ql;_au;_\

25 Cl

M See Appendix 3 for types of verbs in Modern Standard Arabic.

abll Juadll V2A



Jsis - Jé

yaal

A AT Cstsia Al P
ol o ol ol Gh

w3 sl
&ls &l

o P
culs )

-

P
o
%

P
e

e

- R
*
v
° o
s o~

=

&l Jail




e Luaalul) Aol b cudl 3

gasal) JSAN B Cpngl ¢ o2 Jadl) gl (Y

1) Conjugate the verb between brackets in the correct form:

ualll (e (Lal)

aadl) b (i)
fling Qi gLl ()
Aels die Juaill 8335m00
A el Caariall
alee (e

LY (o)

A Ol
Ngao LS of (L)
¢ el Lina (Cal)
faSal ) sl (i)
tadayill (e (LS2e Laa)

S Ay
el b ()

llad b ASE daal ) Gyl

sy debs Cudl (pagage (o0)

Lol Jocdll

A
A

aall (0

]

)
Y
AY
e

o

el deaill 1Y



tJGall b Las 400 5881 |slas (¥
2) Complete the following paragraph as in the example:

Byl dxiae Alay ClS . jeae shaua B g)lh Alayy G dpaldl s3laY) b
58S lagle ighel Slaal el g

Gaaad o A eld o) LAl e (e (@i + ey -

oLz G ) gl 1)) JSLaa

BUR

PEE

t\..;-j +Y -

Sty -

QB+ -

os+Y -

e Al Ul aliaal SIS (g + ) ol ccandl

. el

. el

. el

sl Gmny Saag & deall (Sl celaaall G ) Sl dal) culs
csuSa oS Saly (V) aSea Ul cllily cdilaial)

I gl el



() ‘_,431.'4\ = e}j}d\ &)L'AA]\ Jadl)

OB g jlaal) Jail o 50 cledle

.

|
v

}

(o5l <ca)
Glalgll cpadand ol o0

Sakaa

Ol cida
Lwadl) Jladly)
¢ Latil ¢;s.ﬁ b Laa)
(e
b |odal ¥
gkl

+ Adlal) Cia Cida
*3ymald A5
Ul Gl ¢ ¢ sn)
(o

Oe Llha Jidy ol s

LI ola

* With the following pronouns a3 ¢Ul «&uf «s» «s» the long vowel of the

25>« present tense verb is dropped and replaced by the corresponding short

vowel, e.g.:

Jiag ol 4 <
paii ol (b ——o

Sl AW ——

(e 98
(o= (o
s saal Ul

S Gl

® See Appendix 3 for types of verbs in Modern Standard Arabic.

abll daill V1Y



Jb' : ‘

(USa) Laa

= el

g s = éi
. Gised

Iy j

e

@
wo <

YYVY
g)baall Jail




/w:c.. ;5..:... L..s..:... Ls‘):\-lil\ ‘}h
s af s &gl oA

Seik | | (S e

clyfads GRI | (Gdpe) Laa

Se

ook | cndl G

L (AT (gD Gyl <l
3 3 Crpns Cuyid <)

il (o] g Al &) ul
P e ;.51:.. Lﬁi:.. LLI:}::\.;I\ ‘:’N.

el il Vg



(g

g

sl

(o5 L

(&50) La

e ~ | Cc | C
B A 3 3| \

s i \ \ N
£s . .0 4

sEN 1EX H £V i £V

" o - .
\ \ k] = 2 . e
.0 B '
W =% A 2
3 W A He

Vo gjlmall Jadll




(=)

el JSAY G gl Ci s ) Jadl) Lg8) (Y

1) Conjugate the verb between brackets in the correct form:

Al 1) oYl e 1S laae (Cu)

(@,) ol g san) Algs Allae bl B

Ayaall 3)sY) JS ()
Al ALl 3 Y]
el b5 & (el
Al oLl ()
Coaill oy & Lpalal) Allaal) (L)
Llagll s
Al ) eliaal (&)
Llajiall S
oA die ol
A okl 1
OV S e ol &
el 2y JUnad 13a] (L)
cOmas e S Gl 8
Ao L g o ((-.34\)

) i ) Leginnaa

fdlall e (8 Glad ()l
Byabiadl clalgl) JS A adl)
cJash iy i Wy

el e ST Canall 3 (L)

vz

)
AY
NY
RECRF

el (o) 1o
Y.

o1 (LS Laa) VY
o1 13l YA

a1 (i) .1 a

Y.

bl Jaill 111



() Sadll 138 8 o gainnyn Lo () AlLyy

2) Complete the following: b L lolas] (¥

Al gupal ) Cay &l 8 e (9 y9 0 Cagan () liliaaY Glad (s &

Gt Lt a L Saganati 10ley . jema e Gays i Ol o2 agyell
rpilaill mny 4 agd Jgi Glad (i) $laledy

c;\)'sy\‘é_‘ﬁmi

Ll Al L B Agpal) Zall) gyl seme Ggys5 G oSN 13 ype U
Leaaie paa A G 1583 o i (0S5 elenpdl Y 3n dpeis Ul dlen
tlaglad W1 Cang o Lal llin JSLoa DU b oSl 58 Jgum S 13a
et Y

el + Y LY

Rkl + YLy

g._u_',+‘>1 €

L;._'aé+\j .0

a+y .1

S +Y Ly

Ki+YyY .A

=t YA

laa + Y .Y

apal Bl by paiains of iy Al 8 ptian iy o liad o<1 uail (il

e U i LS
Laladll

O

WY gl Jaill



el Al) Jadl)
) Jad

1. )<Y! =i, the imperative, is derived from a5l g)liadll J2éll by dropping
the present tense marker as the following table illustrates:

A Jad -— agjaall gilaall | el
38l -— Al &l
Al e Al -
)il e [JEI Ll
Iy ydlus G |y il R
&b e Edlid ol

2. If by dropping the present tense marker the verb starts with a consonant
cluster, a helping vowel is added at the beginning of the verb, e.g.:
The following table illustrates the rule:

A1 Jad agiaall g laall | jradal
B I T P o
o | on || s | e |

ptladl Jealll 3 yA



S || o (| pE |

* The following verbs are exceptions to the rule:
a. Form I verbs which start with 33, e.g. Jii/iii, where the &) is
dropped with <Y J=é
b. Form IV verbs, e.g., JAST/'@’-&T, where a 4218 + 334 are added at the
beginning of <Y Jaé
Case (a) is illustrated in the following table:

YN Jab agiaall g laall | jaadal

5 22 12

LS -— < P KB Laif

Case (b) is illustrated in the following table:

S gud agsaall g ildaall | sadal)
W || 8 || & -
A | — | S | s el
A | E | s L
BT | e | W LSS -

N ) Jad



o4

Bl | e— | o | e— | & ]

c. The imperative of ;2 — ¢\a (to come) is Sl

L) iSa ) lgdladi /o MlaSi /Al : AL

d. The imperative of sl (to bring) can be pmalor cila

llae aSas (ogaldl) Jila [/ Sl [ il : 4]

1) Use ja¥) Jab: 1 aY) Jad fglaxtiv) (3
() N a5 (<)

(Jsld) . lina (cuf) .Y

(2aLd) . V) Gyl (Lal) ¥
() oo () ¢

(adx) Vs ol (sf) .o

(LAL) gl s Y L (Lail) .
(A) ame ()

(0) piSae (&) A

(<hla) Asla) () .9

() - oo (<)

(=) .ol (&) .0y

(0da) -la (caf) Y

(1) pnkaadl 3 xa (caf) Y
(Gard) 3568 (Lal) V¢

(22) -ellnd (e L) (&) e
(d32) JAe s (Lasl) .11

wnaldll Juadll VY



(19) ilead)
(JaSl) Lllimd e cilaalll S
(=) LAl Colas)

(xiul) L peall

(3a]) . aSaa 3V

2) Answer the questions as in the example:

rJlal & LaS gl (¥

b A Y il e’ e Tpuyl ) il a7 e 1la

"

.JAG

“eellodl) il Ja” tpyles L

Toalll i a7 talag alia LY
Copaill (oS aalaa B JST 87 1ayS LY
Cdadll (o s a7 1 ey Al L8
“Conal s da” reldlall Lo

“Conall I Ja” raye LT

“Clgre Al Ja” iypem LV

TV Beed pis a7 tplus adl LA

“¢ pat¥) ) il Ja” DUl L4

VYY) Jad



“Conll 2yl da” s WY

“e V) OST Ja” syl )Y

‘el AaT Ja” Al VY

“COY) alakall gealai Ja” thpgdis Aun Y
“Clanadl ) caads Ja” i) L) €
“Clyalll ) Jm Ja” sy e

3. The following table illustrates the derivation of ).5)’\ J=4 for hollow verbs,
GigaY) Jadll, e.g. sl [ b/ JB and defective verbs, p=dlill Jadl, e.g. [ lea

Y Jad aayaal) gsbadl |yl
S P - g - J& &l
S| e | | —— | o
Wi | —— | o | —— @ <l
8 le— | & | — = &l
b | e— | b | — (el el
’& 3 - é 3 - ’t X Gl
‘é.r_.)\ - ‘;93 - PR @i
i) -— > -— SRS il

Cealall Joadll  YYY



3) Use oY) Jub :

y ‘:. ° j. o % ;ui
-— O o S— i il
,—— % % U:_ui

(le) Alaad) ) lelin]
(0S) D) po diglal
(g.uu) uy\ AL 520

(i) - OY) Lia (ya
(ng.hi}\) Alaall Glada
() gl oy Allal)
() ey Y
(%) - el 8
(ale) .dole b e
(dté) .b'u...- n
() Lt
(2e) Y o5
() . alakal
(pb) -DSes
(2A]) 1Yl caudl e A3l

(&)

agjaal) g laal) Jaill + (Lalill) ¥ = g

VYT e Jad

: oY) Jad |glaaia) (¥

)

o)

¥

)

DY

AY

AN¢

o



4) Complete as in the examples: ol B Las Jglas] (¢

Il

(ol + ) el AV Vg edeadl) )
el ) Cadi Yy cJuadll ) G ) «—
1Y Jla

(cal + JSb) pasS O Yy s
S sl ALYy Als NS
(cal + Jsi) - ad) ol Ny ¢yl 7 lua .
(20 + pans) + (s sal Vs (dlsal) 3
(Ll + (gpdy) Akl Ny el gailas 81
(Cal + aly) L deadll & Ny ety A L€
sl s Vs gl Alg b .0

(il + il

(&.ﬁ + Jay) bl e Yy el (e +
(a0 + et Lol Ny calslaall b RY
(el + acliy) Wle Vs ¢ A
(Ll + Qo) . e Yy clea 4
(Ll + Jilay) 3y0,8dl Y ¢80l A
(5] + gy) .be )l Juady Yy cac)gall Joady A
(s AY) Al Vs (dliall s2a b Y

(el + &yl

u.ui Chaa Lu Yj ce):g.“ Ehaa lA-\ AY

% 2

(&al+ 59

ouelall Jeadll  VYE



(&l + ) i Yy ¢ ulal R¥:
.&)Lﬂ\ L.mjg’_é Yy ccanayll e o

(Gl + )

t oY) Jad folantiaal . N (all) Jslas] (o
5) Complete the following passage using <Y Jab :
AL 2o ge paad Gy 23R ey Lo denyl 8528 4853 3 Al Jole B30
a2 8 alads o omy W/uny Lee alliad oally aa (s I chpaz

sl Jlad

ALED s o caag Yol Al -

1 ey tdale -

lelail oy 136 o Lelabis (e s 48,0 oo ilasles sl -
s 5 DU sda & daglld) ALY

(a2 L lgle sy
s lgie Jaadl aalia Jls of 2y ) Jalal)
i o 2 lgie 5 AL Js L & le

YYe a1 Jad



(Jls = galn — 5 — 23ay) aiss (e Jaall alia
falladl e By tdale -
) gl -

3

Sl pilas dluie Jay:dile -
salldl -

oeelall il Y YT



oadleal) Juadll
Jsgall aall Jail

danall Jady) - Jogaall Aual) Jadl)
gu'a\.d\ Jadl)
Jseaall Sl Jdll, the passive, is formed from ol Jxdll by adding a da
on the first letter of the verb and a 5.S on the pre-final letter. The following
table shows examples of Jseaell Sl Jadll for different verb forms:

i) paalal) Jadl) | alal) Jadl)
Jsgaall pstaall &5
Passive voice Active voice
Gupd Gy Js¥
238 A (AL
240 AL CullE)
Jusf Jsf &L
XXXX S EPEY
RHKK Jol&s cabiad)
XXX X &) )
bl Cad3Y Cralil
XXX X il o)
S JaEL) SAilal)
e s LY
XX X X J3adi Y g,g lyj\

1YY Jpeadl sl Jedl



& Jlaal) Jadl) Y
Jseaall cuall J2dll, the passive, is formed for & lasll Jxill by adding a 4. on
the first letter of the verb and a =3 on the pre final letter. The following table
shows examples of Js¢aall Sl J2dll for different verb forms:

gobaall Jadl) golaall Jadll
Jopaall ) | pglnall sl a5
Passive voice Active voice
BT SN Js¥)
P P A
AR LES Jali) Gl %
S Jasd &
XXX X “)313:. el
XX XX Jaley ceabiall
XXX X & Ll
XXX X el el
St 2 V=l
XXX X sadiy Y g:;\_y 2l

sl ¢ Joasdl

VYA



[
g baall | alal)
!
Jogaall il | aglrall iaal) | Jganall sall | aglaall aal
Passive Active Passive Active sl
voice voice voice voice
i o @ | o
Following are examples that show how sentences are changed from (!l
potrall to Jsgaall Asall :
Jsgaall isal astaall (isal

eyl ) Al ok

ol Y Ay s

ol 38 3) (e Hals 255 Y

Gisa lilada 2adadl) 138 2350 Y

Ay Gy QAR Cagu

Vgt Vg Canl) Eas g

Al ¢ geutall Sags

ALY 8 Cpeptall SO sl

Gl 1 B8 o)

Gl 13 T o)

A o3 235

ALY o3 X gaaall an A

Jaghs 5,88 5y cidac

M358 588 ) Sl ac e

Bla) 188 ¢ 4

Bl 13 &) fuyaa) callik

L usaldll 3 AL oo CUl) Eaik

1Y Jgaall sall Judl




rdsgaall (Aual) A A0 Jaadl (sl (9

1) Change the following sentences to Jsga-ell (sl :

ccoalgll 1aa DU ppen (S

s Lty umdill Cal

Aol X 4S5 bala

€Ol Clajia O silkia Ja

Bass bal S A Sall Ciaan
ool 138 W g

coane sl of palall sl

el clpall e ey sl il
Al Bas ddal) Cngiud

A

.4

cagdgial Bl Jaall 138 Lulill el .Y
ccadl Lialss L)y

caell agill Qull sl VY

oAl isall ) A Jaad) glsa (¥

2) Change the following sentences to Jggaall (sall :

ccan sl 1aa (DUl (S

Nhan Glage el Cpmy Cagas

sl alell alall 1aa aaf aaliy o

fonall Clajie IS osdains Ja

roupalill (B AdSl) s e U Ciny
felial) 158 03} a guaalll Adpl) s Ja

u.n.lu\ ( LAS! )

VY



ool 1 ) s e WY

Gl Slaall (e S dagSall i LA
coape pall o Gl D ol 4
Lol e s aae N s LY
Al Glpaldl e B Asaall Gl L))
cadld) (s Adadl) Caagis )Y

s JS Cagll Calaw Y Y

cned) arsill ulil) aadiy )

) g sl il o) Ayl Jii L0

tJal) (LS pglnall il ) Jggall sl a4 Jand) lslga (¥
3) Change the following sentences from aglaall iall to Jsgaall (sall

as in the example :
coeal ALyl Jale (S < (el Al i€ 1l
22V g S Sl olasay) G oSh
casdl LAYl Eads Ja LY
casl) B Audadl o Laagd L
cealal alall Gl sl Lo
ol elilas JS ek
A alak da LY
Baall Gl jiall agdl (s galdl) 223501 .4
Ll g sau) laiall o) Jd Y

1YY Jsenall il Jail



Al b LS asteall el () dsgaall el o Al Janl) Islsa (¢

4) Change the following sentences from Jggaall (Asall t0 agirall sall
as in the example:

gsmd) gbbaaly Allia CDUA Tty «—— g sanl) b saaly Alla 5 1 Jlka
) ag glaiyl o Gagadh ol L
sl 3 S S RLE Y LY
Belill Jond 3 )5S c¥la D LY
Baaal) CladS) iles s Cages 8
Vil CEG ) Lo
st anl JS Gyl GQARY Y
bt psned (i Cisu e o) 8Y LY

() ) gl v = st + B

5) Use the construction jaas + H/fu to give the passive meaning
for the following sentences:
aipal) B Olagyl Al Eund LY
colusall b alyd) 028 ajel LY
A Cus Al Gl JilE 1LY
AaSaall A gl Jil L€
EREREEUJENG I



VY Jpenall sl Judl

Caglh il .9

sl sl s o) LY

Ot JS el QAR Y LA
Ll e gl (336 a1 L9

gl S Ly

coaldl sle ed b Gl sl

Sl b sall el ggind Y



JUall Jadl) .y

D el JladY) — Jsgaall sl Jadl)

£ Laall Jail |

|

ralall il

Jdsgaall (Azal

astaall (sl ! Jsgaall sl

aglaall isall

Qisy

h,
: \ i \

KEy
ALy

Js¥

& JLA'AAJ‘

astaall aal) ]dsﬁaﬂ (sl

poteall Ll

Jsé s

‘
|
i
,: o [
J\.;.'u “
J
i:
i
!

2
2 o - “ Ao ‘
m‘» ] m—w -

AR




o8] Jadl) ¥

£ Laall

pstaall (isal pstaall sl | 3l

EN 5o X lea ds¥
J

2 T S S Js¥!

) P = ds¥)

S| A e | |

ol sl }‘ (sash Al Gl

XXX X el XXXX (it aldd)
XXKX ol ! XXX X aldh i biad)
XXX X (i) ; XXX X (aail aabud)
@iy G ! sl ) bl
| S| | [ e

rdsgaall sall ) 4D Gaad) lslga ()
1) Change the following sentences to Jsgaall sl :

VYo o Jseaall L;u,dl Jaall




Tl 158 (pdll G paaalll Aoyl Cinany Ja
el Slal) (e 1S A Sall Caald]
ool e S 1Rae il el

Ml g saul) el o) dusyaall clld
Madle ue b allgl dlea B gl U
§usalall wiaiag

4l Y oSl Sae Ja

LeSiyl Wiz 13k

Sazkaall Jale Eunls Ja

Jaall ) Wilaal JS lsea gas

A
A

A

sl sl (1) A0 Jan) fslsa (¥

2) Change the following sentences to Jsgaall (Al

Cal) A e il Ulaghl o nildl g5y
Ll gasanad Ayl (Sluse daSall s

comabal) Jomdll o L) Luliay B Sim ath g
Ldaal 1 ) liacal JS seni Caga

Sl S Y S il sl

Axalall 4586 (A Gualsill GOl aay

el saal il 8 alakall i

cemhal) Joml) Ales 3 AaSal ) oSl (DU )
“Losal Aaly Ban daly alil)

ce bRl 13685 Galil) sy Gliaay el G

pisliall i Jiadl

B

A
-4

e

AR



dsgaall Asall |slaic LA alakal) diuay |guis) (*

3) Write down the following recipe using Js¢aall (uall :
KV .@,\J I Jaiy WS Lgaa glazdl Joling atan 3)L3 daalad) 22y Jale a8l
Jale san oSN gy Jumiall dalads 4l 223 as Laalid F<ue caad g ouuY)
G Jale Lot oy o Al Caal o3 (68N Jaal Ay gllaal) il gSal) Al -y
t O JUall 8 LS dda gl LS 8 dale pae e a0as 2aldy gag Adia))
alac) G ead) Jad slhaall i Sall (e — %) :Jlal)
caledall dlac) ead) O dylhaall il Sall 5305 «—— alakal)

2 saalaall :;Y‘g;

VY Jsenall il Jail



salasy) gyl Ll
- Jiz) 5 ol (G5 - ) 3
Bliae i (dd)2— ad) &l s Lally s (s
Jiag) g X Y1 (80— 5) X
Aele e sl o (el — o) &5 1 (k=
- &) 5 Al (L5 - L ¥

Cul e Qi B (LR~ ) A5k L
&

Y
2
WL

— B 5 udall (il — i) ¥
Sy oLl (ipm) — Calial) & O Joad) e (285
el 0e iy s (D — o) 5 Jilils =l e
dami ol el Y Y1 (Gl — Galizl) .0
sl (32— D) 5 (i~ )

[

Al b e oty s (e o)

) 5 LRl (Gl — 3Ly a
(e = ) o gt e S e ga (a2
Al e il ) (il — alial) s el (e

[

bl Juaill Y TA



S (R ) 4 e 028 <1
Slene) o Gy L)y (i <l (g JulE
e (S 5ol te
A LAY 8 ablalal) (3335 (334)

(o= )

Cill e il a ) (e Byt Aala ( Ly — )
Jilis elag alalaball jpae leal) (s — calial) o
Oe A0l U e dal (el — @) 5 Al e JilEs
Blaaye Jo

Gk ool DY) (e - ) il
A8 gl g Sl Lagal] (il — i) 5 el
GSeall (e haall deaidly Gl (023 — o) 5
Al e Gubal) ) Gl o) Al

Calizl) 5 Uil Galall (o38) — o)

3 pladall ol s 18] Al o 4l plalalall (ipiai -

Y Y4 JML;L\A\ Jeill

)



Adgaad A alaks diay gu8)

t0sgaall sl Jadl) (prariiione A1) 588N |alas] ¢ Al g )A) (¢
4) The invention of the century: complete the following paragraph
using the passive:

alal ) LS Jlga
gy cJpaadll JSI Ay sllaall lalll LU, o8y 568 c DUl JST 2da Slea 128
Gsdy )y 5o 820 Y Ngenn sl ¥ gl i By el (g0 Ul oSay
saalias Aualyl) dusslaas il Jia (g5al il 8 agild sl g hainl) agiSay 138
leall Jein sl 4 eday L DY

(da) #lesSlly Sleal )

(oas) A diaiasall dgall o byl Gyl X
() diil) o le WY

(dr) gl (any allay) & Sl Sleall x
(33) @AY dgall (e Usladl) iyl .0

(lakal) Qa3 R

Al il o Gk ol g
aSuly a8 1ba 098 o (Saal) e AT £330 g 1S

U.u.}L\..J\ M\ Ve



abed) Juadll)
sy ol Ji

(1) SEY ¢ 5lly Jo¥) ¢ash — Jadl) il

Form IT S8 ¢4 Bal3l g ya ")
Additional 1;0'0 :
il g baall k) letters

el Sk, e R
oS GH O 2 e
S8 é.l:.é ?‘j""‘" L e Ly
& pes B 4 s
s AP pe J ede
Jaas bl ey U Ju= s
0.5 4K WS " o d

AU [ gdal) e Jdaally (Eouaally (malall) AUEH 56N 13 ()
1) Formulate Form II (past and present) and J+<« for each of the
following roots:

) See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with
examples.

VEY  JladY) oyl



pde )

(—aAq Y
)eg -V
oo d L8
38 P
Bsiid A
Juag LY
oeg A

tquSyilly Hrall B 380 ghaaY

Notice the difference in meaning and structure:

S sl Js¥) sl

1. Form II is causative of Form I:
Al 1) ele J5ay bl Ediay
Gl Zaalal)l a3 < LAnalall (o GBUN 23
LGl Gl SR G e LGl CDall Geyd m
Ll jially Gl A aall 083 e iyl SOl <3 m
2. Form II intensifies Form I:

sl Al & e LGSl AN &

sl L asd g A gl Y O sl o st (Y
2) Change from Form I to Form II, making the necessary changes:

gyl 2Rl OO Gagd .

@L...Jl Ladll VY



Dthad) ) s Jiag

e ran ) o lisw Zia)
Al s e Lide

AL el o s @3R3
cOsaal juac canl) Ciyd
Lol aal gyl g8
Sl (e Calasall £58

A

A

LSy aalll il akd Ly

: o Blly J6¥) Gadisll O g a0 (¥

3) Choose the appropriate verb form:

[ AE). a2 £ o) i) Aine Y Al s of DD (A / ak)
Lol Clajia DU oyl (e

sl 5Ll L O (e / ak)

¢ onaall Y Al 5,8 Sl (clla [ ciliag) o

el Y AL (ediag / i)

Bl deala 8 30 oS Ladie Y sl cal (@alds [ @)
gyl Al 8 G sl COal (G5 [ G9)

i) o Ll (DUa dupaal) (<5 [ iy

Agmaall Jeall 4l Gapaall (565 / 24)

el z iy ey Lall Jead) DU (253 / 2g9)

A

i\

coal el (il [ celin) ilaiss Y



Aralad) 8 585l (useld (aiia [ L) Galldall LY Y
Uil 3y (JAS [ JA3) Ja Y
Aapall Sl el (528 ) 5iK) Y

4) Change & + il —> juan 1 e «— Jadll + G slga (4

LGhsY) S s of Gagidl e 2T Ll SIS of s )
ASE Ja 188 o g LY Sl il ) Jylal Gagu LY

ool
el AL el of Q) e A LA a3 s o Yol oy LY
LYl eda wdai (f g L9 Lepaa (g of gla elliad (e L

e of Goaall e Lalla )+ LAuaall o3 8 G of L0
Lolanay)

@L\‘J\LLA&\ V¢€¢



@ M a3ty Jo¥) cash — Jad il

Form IV &8 o8 paliil) Cag s 1]
Additional 110'0 .
sdad) golaall | (bl letters

Jad) Jal Jai Jg df Jg
e e ole! pde
Alals) Halz) RN A oa
2l Ml il 1E o
A | e | | c ¢
eled pe el P
&) S 23 gc
TRy lumdy | Calad] Coag

AU [ edal) e Jdaally (Eolaally (alall) aaldl il g3l (9
1) Formulate Form IV (past and present) and ias for each one of
the following roots:

g—ﬂcu.a )
gepun oY
2 o Y

@ See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with

examples.

veo  Jladll oyl



Notice the difference in meaning and structure:

& Y

1. Form IV is causative of Form I:

A (e Cilhgal) el Cin AT e LKAl (e Ciligal) 734
Ol Eadl culae ] e LAudadl e SN Gk
oY) Dl c&a ] e LAl e GOl Ealn
YL Galdl) Sapall cadde] «—— L 5LAY) Galdl) 2l

rark Lo it e bl Qi3sY ) Js¥) dsd) G lales (¥

I st

pA
e
Jed
2@

«a

oully ) 8 (Al (pkia

2) Change from Form I to Form IV, making the necessary

changes:

Al e Sl eSala
Ll el Al @l G alllall ple Ly

) Qi)



ASall ) sl s
cdaadl) (e A SaA
Lol GO b
i b alls Copm

A

.

lead lialy i) e Y

1aablly do¥) Osiisl e g8 (Y

3) Choose the appropriate verb form:

Aol OO e (el [ 220 Band) LAYL Gl (anad / 222
el 7oty dupaal) (el [ cial)

P ) Sl (Canaf [ Eamn) o

LY i s ol 8l Aol b cud) e B (280 ] £33)

N Al oS slanll of Gl Calagal) (alef / 2le)

el COUAl (amy il (Canae| [ Cana)

comal Banall 3e Y (Weand [/ Linaly)

Y DU d ) (Canend [ i)

L Tadi coall of Guldl) (alef / ale)

ALl Sy ams e Wl Jal (a1 / 253)

foiYl A Lo Jpean) aey balendly (Gl [ Euye) Ja
Las Cigal ially (Uyeil / Lipe)

LAY eieh pie Cany Gl (quaef [ cung)

VEV  JlaaYl oyl

9

s

)

AY

'Y



0ialal) de Ll 8 Gaslall (e (Chmaf [ Chna) b
Ay Y A Jead) 13 8 (Sl [ i)

DS ails 8 4(L5dl [ L58) gyl dpae

il 4T e Lavie (Gl [ 333

.L”,’_‘z@.lu:j (i L5_,(_\_”\/ a2) SN gk

tolan «— Jadll + 4 fglea
4) Change & + verb juas—>:

bl 8 Ol 3 2l
el 8 Akl |olas of ws Ja

A sk liad o dayaall Jglas

A G Sl o3 IS g of o s
o5 (b Legllalal Ludah of lallgl) Jslay
e liaal lsumih o g Y

Slia (o ddadll o2 i o Jolad 13l .

ol e e 3l 3 o g

bl Sl

|
Vo
1

VY

(¢

\
Y
Y

¢

P =)

EA



O Gualad) 0 5slly (A il — S Qi)

Form V uwaldd) ¢34 salil) g 1)
Additional EO'Ot
il g baal) ralal) letters
g | s | sk |Jppaa| deo
] % 2 @ ,iff- -
— ) plad = ede
= = = > ¢l
RS T TS xS g JE
By P 5.
L:.\..\ \/\/L’:‘\&\’\;\ L‘:.\'\ ;:.s.: QE;S | Q [k C
At a3y o5 & z 350

AU edal) e Jaaally (Eolaally (malall) (ualdd) 56l s5la ()
1) Formulate Form V (past and present) and sz« for each one of
the following roots:

aa@ )
CJJC Y

G}J' .

® See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with

examples.

YEQ LY ol



2008 -1
Add Ly

LJU‘“C A

e lly rall B (580 |glaaY

Notice the difference in meaning and structure:

oAl ysl) S sl
1. Form V is causative of Form II:

N Sl )50 e— 13 Jhad) Q) 5

alpndl ¢ LY Say) G« Lol e Dpulid) g La ) i

aladl (e il dile 2335 «— il Al Dadlal s

) sl Gl Lt e . Jad) oyl GOl Al cade
Aadlall oLl Byl Bl s e LAaalal) ol Bl Bl il
aal) G Juadll e COUaY AT «—— L Jadll e SN gl AT

fa &dad = daa - &-A?jss=e:‘$:b£§y*
.‘;EM“&G‘:\A}S = .@Gui&ﬂs A

el e Uaa Aaud1 idas el e i) s

bl Jaill o



rask b e g gualdd) Gl () (AEY G3el Ca sl (Y
2) Change from Form II to Form IV, making the necessary changes:
conlaall 8 alaill (ggie dasSall Cuilia L)
Aalall 8 OOl (gapaal) ey LY

Lol e Sall cagie LY

aaygll e eyl Al o g

A JS OO (0 B 1ae 4835000 dadlall 383 0
cphaly ala) periuall 3l 1

Sl ey Ul daddl ca K3 LY

s se oo wadll Hlagll AT LA

Ll sl &g ylall paa .4

all) aleil s Jiluy Aaalad)l cappla Y

ceiaY) Pyl ge DU Gl j3a )Y
hlal) U cptie b Gyl Cojaadl e VY

Al a6 Gl Blagl GOl s VY

cgraal) ast )l ALy gl W €

Byl JAAT;S.\O

tomalddly (G adigl g, laa) (v
3) Choose the appropriate verb form:

Y Al San Y galeaB) gl (il H

Taanall ARl Al (pe Lshaal ((Biaiiny/Binin) Ja .Y
el LB e judian (e e galall Culaal (U_:jt/g“_jﬂ) .Y

voy syl oyl



RS P py PR R UL NS /NS I
Aaalal] Apaliai®Y) Adadl) da gSal) (Candat/chada)
bl 2 Yy aliae 5 L) (J)s.,/JJs) A
Bl Cileg piall e HESH (caiat/cidia)
Olsmly ea) Alsy 8 RSN Y] maes (58 05) A
Baaall LasSall Calaal Lug )l (33a3/23s)
0punydll Aall (A< Ja . s
LS il (DUl (&Y Y)Y
csia ae (GulSy/E) LYY
A
celsall 13 cdal o aay 1, (Fina (Ciad/ciia) LV €
cogud) At agias ay  asdll alsill ) Laasgy (diadfcnlsa)

Yo

4) Change &l + verb —> s : t e <— Jadl) + G lglea (¢
€y yal) Aallly chle pmsall JS & da of ki Ja )
oaaall cilajiall lpales of ailgla Ja LY

A el Ales 8 basu of olaw WY

Neaa oIS o aaf Yt

Al 038wl Z3a% of adsidl (e .0

e b 2 sliaal e Gagel of Gl 1

Sl sl e Glign of gy LY

Mgy I VA 355 of GOl ay A
.Qa&\@ﬁj&@&;ﬂjmmwgﬂ -9
RGN WA S VU L IR I

c.;\.uﬁ\ Juadll YooY



) gusbead) ¢35 8Mg AN 3l — Sl oyl

Form ITI Gt o5l dalil) g A

.. Al

Additional Root

Laal Laal ala) 00

suad) gtadl e letters

dta.a/fusu:. dpu; Je JE‘J d&d
daaly e =0 e
34 ik 2L Al 1A
1A Jub S Jon s
dajlie ol a3l ‘ pd
sacluk e L el dg o
Jus [ bl Jil&) Jils Ja s
Aaales el pala Pz A

A Jgdal) e Jlaally (Eobaally ralall) &I ¢l |gila ()
1) Formulate Form III (past and present) and ,»« for each one of
the following roots:

»

osg .Y oz W)

2g et ERCIA

@ See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with
examples.

Yoy Jladyl oyl



&c._nla.\/

?éC'A

@ ogdy Cpugdll Gmo AN jedall QBN el Oe

“og -°

ec.ﬁ A

Jadl) fgila (¥
: aliall JS1)

2) Get Form III of the roots between the brackets and put it in the

correct form to complete the sentences:

(Do) -adlasal s
(5 3) -l PUaYl ) srishadal
(pz 2) -3hall 2m Al Yoo asiall LY
(O sg) Ll D)
(Fg o) fealsll dee i clina
(2 0z) -0kl Lelial) o A8
(¢ z ) -oliy) J8 by A g pall S
(b= 0g) -l oda Gy isl)
(p fp) -akalin) aey Goluad) i) el
(Uz 2) -ald) cpall b sasaall S Y iyl
(o= ) -BlaY) ol ey Al
(3 ) ~xaall aldl e glabydl (& sl
(0 d L) AesSall Lliul dus)ladll
(¢ 5 @) -Aaall cilaiid) Ayl 8)gisal) wiliad) il

il Jaa .1

(L) Cagus .Y
AY
AY

¢

el Juaill Yot



Form VI gwalad) ¢y5d sl g 1)
Additional lio'ot
Jelis Jelis Jelis Jeglauw Jg o
Sy Jaalyi Jalys Jdw
i Hlady lad Ye
Sl Jalay Jila Joa
()
Oslad Gl Qslas OsE
Jlas Jalay, Jolas Je G
sl sl gk G3 U

Al pdal) e saally (goliaally (ralall) Gasbad) ¢ 3al 1g3la (¥

3) Formulate Form VI (past and present) and _iax for each one of

the following roots:

yoo o Jlaall ¢l

QJ&.T

Jaag.y

Qog A

d.\ﬁc.q

dw).\.

Jdeg
“Oa

KAy

Je G




b osiag cpusll) Gm oD siall el gl Ge il g (6

4) Get Form VI of the roots between the brackets and put it in the

correct form to complete the sentences:

(o) -ty Saals W)

(0w @) -Auball an Lidll) 3 (o) Cagas .Y
(G0 Tepasd b 8k (af) Ja ¥

(0 < ) Ayl g die S, of
(050 oY) agial S 2 2l o liac .0

(2 @ i) DS ol ila c slall <

(0 G oa) -Cmsadl pled Glutl slll Aylgs 3.V
(o oa) -l A e ol IUPRT
(G 0a) -cbesie 5yl i) LIS el 4

(Je &) ol e Vsa e

CasS Cael Y LY

(J2¢) - odie by Ay sk 3)ylia aay Calaal Dy (a8l A

(= 2E) -dnedl gles e

IR TIPREXTE

trinal) (B (A1 elaa

Notice the difference in meaning and structure:

el gl

EE ol

1. Form VT is reciprocal of Form III:

i il 5 e 13 el Sl 5

bl Jaill Yo



Algia pa Mgl lat «—— ARa Mgll ojle

.436,3.;..4\9 Al sl

LOlalgl) o glat
GAD 1gBaY) a3l L Jas e padleadl Gl A GIEY 0380 e sles (0
(ol b

5) Change from Form III to Form VI:

caldaiily seBaal Ul Judy .
Othdl 8 sl &g Ly
Gl Jleel b agal WY e ¥
Aaaleall lsdl) dpaSall clgall calild g
Apsiall il gall Adladl) cifgall cuyls L0
felysmgn A slall 4ulis g palall Soball da 1
sl Gl miliay (gpaall (il 3ypall & LY

P(ral) (B (Al 1p8aY) (ualudly GIED il e L lER) (1
6) Choose the correct verb form:

i G A gy isaall (i [ dul) )

liganall (ks [l

cull Jleel b diagy dall (ostas [ psle)
el Jlael (8 diagy g ol (sl / cisle) €
) Jlael 8 Glag )l (opslas [ psle)
Lol Ol gl Gl (i / ot
ally s ) Glalal) (i / B LY

Yoy  Jball sl



Aglal Ayl 4s updall (Jalad [ dale)
gl 48k 43 aa updall (dalad [ Jale)
g Ve DUl (e f ele)

A

.4

e

: Jdaa <—— Jadl) + & lslsa (¥

7) Change & + verb ——» Juaa:
eyl ae L o Jslad dsmandl 20
conbll lea) QL) ol of aa
L0Vl i) G A8 Culay o coal) 13 Jylay
Malioyy S Geal) IS walys o g il (g
Al iy 8 sl 1 Gl o JuadY) g
oY) J8 cala jiall @bi & S

T SWE o

Y

:JM*—M\+‘3§\‘9{9§(A

8) Change i + verb —> jaa:
iy dulys o e Gagad cpilsal) SlBacaly Ul
PVE cusal o )i Y
sk gl lall) oy of a8l s
coadd (sl ae obilEy o ey Y
el 38 il miliaty of adsiall (ye
Sgsasall 138 Jon Ipaalis of ailgla Ja

bl ol

A

YoA



N bl ¢3sl = S i f

Form VII abed) o548 3ab) g )

______ oo sl

Additional Root

Jla Jadis Jadi) Jedol| Jgd
DL el ] o d
Pl | iy i) ¢ ba
cu | | 5 | oo
alass) Caikiy ol e il
) GG | B o0
S| s | G 53¢

AN gdal) e Jdaally (Euaally (alall) aabuad) 30l 5l (O
1) Formulate Form VII (past and present) and i<« for each one
of the following roots:

248 .0 o L)
«d A Qoo WY
NISTRT) Y gbga ¥
o) o panndi A G g

© See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with
examples.

yoq LYl oyl



tquSyilly Anall B (AN |ghaY

Notice the difference in meaning and structure:

Form VII denotes passive meaning:

gl 31 ds¥ sl
Gl R ) Al 32K
B P gy gl A1) 0
S )
T — A Gall) a5

&bl 058l S8 oo
AL sl LS ) 3

&lad) 380 &I ol

Solia b Gl «— Ll e uall caalll

tadl La Jas pa o) 3l ) Jadl) glea (Y
2) Change the verb to Form VII, making the necessary changes:

ool Akl caaa

Ayl algl ol LY
ALl Ly LY

OGSL e e 2igll el L0

@LMJ\ Jadll VT



A e dapyall Jsall catic
Agslhaal) 3hs¥) IS &l

cOatlal) OOl ¢ Lewd A jaal) casi€
(O ) e )
e e alakall JS ddadl) el

Y
A

4

A

A Jand) (B Crll aliall 351 fg ) (¥

3) Choose the appropriate verb form:

CJBBU At Ll ppes (<pusl [ s). Galall Al (el [ 2
comel Js¥) aclain) yaall o)y hsll (ulaa (dka) / 32

Aidanlill oY) 8 e a1 il Fojla £ Laia) (ke 362)

9 i€ o gaigl) Ghal) &l (cumsl/ciat) Ja

i e Ll Llall (cmanil/ialy)

e logl) (e llal (peiil/

ol (e S 23 gy W (ool Lea AL (cupaiilf/ey )3

LD G olaally ¢l (Candaiil/criatad

gy YLy Bl aan (e sSall (cadail/ il

N

N S S S S

comal Bhgh (i yusl/ )
« 1)

el il (pslsenn ageal (Gl

S5l Hland (Cuamidil/cacaia) 13 Gaaa g 13k

N—

ealall Cums Ayl (S i) Ja
ity A8 g pusl) 358y ualll (il L)

YO Jla ol

AY

AY

ANe



fodaa <—— Jadll + G lsles (¢
4) Change & + verb — > _iaa:

sl Oiela ¢ LpeSU adadns 4l ) jaall (ga L)

cosall BES Bl cilan cacadil o ey 1)h sall maal LY

L 3 & LB iy of agall (e LY

iy Juai¥] adai) o 2y Ausyaall slaal e s alefy L

Agal) daally 56 g U (e bihY) gl i ol jeae s L0
elu da cpal) On aall el diey of il e .1

commsis¥) Qi of ey bl e} 5 LY

D Sl mias of adsidl e pud LA

L lall dsgal) s of ksl e .9

L asaal) o Calgall jaiiy off adgiall e Y s

bl Juadll V1Y



WOl sl — Sy il

Form VIII ¢ 56l g a
Baly 31 Jial
Jaall golaall k) Additional Root
letters
Jlazd) iy Jaid) Jgad ) Jg o
g Ll e ] g e
o) iy ot Jua U
g lial e oty o et
J Jai5 2] o
] S— L%y SEO
SICI @ ies
) 2% 33 2z S
il claia ellia) cJdu=
& L) ik iy L g Jk
Ghliz) cobls Hhla) Qs
plady) e} a2 ) ez I

© See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with

examples.

VY O ol



Al ) gdad) cre sdaally (Bulially alall) el o5 Lgita ()
1) Formulate Form VIII (past and present) and y<as for each one
of the following roots:

EPE g papws)
g .Y A
S A Jue .Y
G oyg -l QE Ot
g oss)e Jagy.°

trall B gAN |ghaaY

Notice the difference in meaning:

Salll 38l Js¥ st
sl Giga ) WY aain) bl Ciga MY aal

Some Form VIII are reflexive of Form L, II or I'V:

Galil) ¢y ) Js¥ o)

AL Jead ) Gllal) i) e— AT Jead ) Gl §paal) il
O e COY ptal e DS e G Aral) cini

Gl o st S o

o) Cidlgh st —— Codl) Cadlgh ALY Caad

Ol 5t & ol
Y] il LONAY) ) B 68 gl

@L.J\ Jadll V¢



() ua Gl 1Y) Al Le Jae aa el 5l ) Jadl) (glga (Y
2) Change the verb to Form VIII, making the necessary changes
(notice the difference in meaning):

Soaaal) eV Coman Ja )

feaY) Al ) ppull Sl i LY
saaal) Aadl) Ll sagia Nl pen LY
Al e Jlead) da€all Cimie L8
Al pyall & Jilall DY) s, Lo
Ll 2@l Gagall) 2] .1
coall g el Cipal Bal) ALY LY
el 8 Gaalgll Coall JuST LA
Adaydll o gail) S e palll (oS

D

sdadll qualdall 50 g sl (¥
3) Choose the appropriate verb form:

SeaSall e (ge sy (calinl/c ) Gag L)
e S sl Sy (Jal/0E) LY
Y 58 ) Ul (/) Y

LAY 8585 (O G paall (ptins)/ gansl)
LY gy (Ol (paindfaaly) .0

)

)

GJLL: &Lcﬁa\ A;A Cya yel) o ?‘“ﬂ\ 3 4 (M‘/%

< Ol fe pa ?“"'ﬂ\ 34 (QM'S;\/L.}M:.
Byl (S ‘;5 Cr ydal) Fboz (c&;\/cﬁa&) A

Yo Jll oyl



Lo Janl 8y pumy 32T (CniiEl/ i)

coaiaY) Jaal 5y e 530 (DU (pdl/a)

)
clee Cali gl (JaS) JaS)

) piadl ¢ by (JaSI/Jas)
Mgl Ay Ailaly o5l $yaa 385N Caalia (o) g

)
sl e Rl ) Gians A5 ses AR (/)
)
)

i) e e Gl Ayl Jlay (2xil/and)

i) e e i) (axiy)/an]

)
Y
AY

AN¢

Vo

A1

i odas «— Jadll + G Iglea (¢

4) Change & + verb ——> jaa:

) Bles (A waall Gul Gl s G ) e
LAY ) paias of Bl g

AT dusd ) il o )

e 88 Bhlua o lg) ay gl anasi o adgiall

aaally aall a8 geating o s

cl ) dgalpal dpial el TagSall 335 o Gagiall (e
Auhall el 5)S8 2ty of up Y s

ccaalgll 8 e Uaalyl Gt o S clgla

copalall aae JaiSy of day g Laial) dad Cogu

FAynall 030 (b Glal) sty of adsiall (e da ) &

bl Joail

A

.4

e

AR



o

) aail) ¢y 381 = Jladl) o of

Form IX sl ¢ 54! Baliil cag A ol
Additional
Jiaal) g laall (salall letters Root
ol Jay Jadl | Jdgd )| Jgud
)1)“‘3‘ ,3“‘-3:‘ 3‘3‘ JeC
BUSHN] pete adl o) JuRE
Jbial Al Sl DS ua
L]

el Ll Lasie \ggag Seny  ®

sl bl G Gue (B jheal) e el m

ol b i) Seasn

RETYER P W N I Y S

Al el e dasll hal e Sl

™ See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with

examples.

ARSI N



) yalad) 03l = Jud) il

Form X _di\l) &4l dg s
8al 3l Jiad)
Jdadl) go\uaall (sl Additional Root
letters
5 B a ‘
Juiis) | Jaioy | gala | 7 :’ ol Jg
' g
zhiild EA A z ot
t‘A i) CAJM c_x)“‘:m\ €z
QG f
Jlaxit) Jasils Jaiid Jeg
Juad) JiEig Jiis) Jed

AU dal) e daally (Buaally (palall) sdiladl o538l 1530 (
1) Formulate Form X (past and present) and i<« for each one of

the following

.\tg.\/ e.ﬁt.i d?&.\
&U._l?./\ &GJ.O e_ﬁk_'i.\‘
JGT.‘L aag ¥

® See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with
examples.

bl Jeaill VA



tal) A 3 al haaY
Al ¢Sl Js¥l oSl

1. Requestative of I:

sl shall Cuaiinl Bhall fayall 335
Ll adl e Cialaind «— ol Al e

2. Doing something for one’s own benefit:

cseldl) Jaaid  «—— NEIT g v
ABa e QUK altin) —— Alayll e 2le
salall g5l &Aoo
3. Reflexive of I'V:

ALl EDUY St e——  LAlall SO Fu ) cide
) el daall

4. Estimative of some adjectives:

ol gy daul e Ldm e 8l g of s

il A G 19BaY) adh Le Jas aa pdiladl o5l ) Jadl) |glga (Y
2) Change the verb to Form X:

cpan el cule Lo AL ISl iagd Ja .
il Gl A jaal) ad cu Al Al gealiyy Eale LY

s sal (il S Euea LY Lol agudil (Ul def LY

ol g iyl JE L g

VI LY ol



(inal) B (A IgtiaY) AU Janll JLaSY gasall Jadll g 581 (¥

3) Choose the correct verbs to complete the following sentences:

Aleall i go DU (pedinlfzd) )

Alaal) e DU (agdivl/agd) .Y

LSl lae paghy (gin Gaseldll (O (Jaxiaal/Ja2) ¥
8 A3 b (D den)

£

Araie (e dlall By (JUal/JE)
Anaia e daaplall 335 Gl (JUal/J6) .
Bl LSl agd 3 COU G galil) (sl ala)

Buaal) GlalS) agh b (o gall) (e O (aliiasl/ala)
ol Guate e ) 138 Joan Qalil) (2ninl/32)
colaball 8 il Al e sl (asaiud/calal) )
LObabal 8 ol sl (smiial/la)
8 e ST DU S Glaial) Sy (Csinl/cig) ) Y
ciale) Y (e Dsallg laie¥) DU (Cuasin/us) Y
e Sy @A) apal) Gabel Gagall o canlall (pa ginl/miag) L) ¢
Aamye Al panall Cukall (i siul/miag) Y 0

1)

P has «—— Jadll + G Iglea (¢
4) Change i + verb —> juaa:

28 laa (sl 1))l pady (raal) Gudyll Jiig G el e L)
L Qeseldl) Jeatidi f ey Y LY

A o3 e oo Aunpaall (e pgdind of 3 LY

bl Jeadll YV



YY)

caalal) gy vie Aaplls haatiw of g el e G
Sl aan 8 Ayl Aall) Vperains of Juad) (e
OV e ot A o Gang

o8 O A8 BlaYL wiaid of Jlal

Alayll iy e aleind o ay) celliad (e

daadl (e e A das s of Gl e

A

o

AT Slem 4t A Sisnall Slea Jasud of oSadl e Ja )

JadyY) sl



O Jad) cfig) Lo daala

1) Complete the chart: :Jgaad) 1gtas] ()
Jaal) goladl) wald) ST\ ol
v % S
VIII Jua s
L TR NeS
VIII 230
e
B
i)
BUS
Jaan
B

® See Appendix 4 for a complete list of verb forms in Modern Standard Arabic with

examples.

bl Jaill VY




el gl |l sl il
11 Py
X JJda
)
plal
ki
QII PEERE
dad)s

tualial) ¢yl (g 80 (¥

2) Choose the correct verb form
flCa o el (BaS/eliA) A (e )
cdae Aai all VY0 alad) 138 A sSal) (@adsffcinds) saha¥l sy 8 LY
sl malaill AUy (3l 38 of amy LY
canal) ¢ LY (58/0Y) Cigw Ml Caplall oa 13 ¢
i) 45 2o ga Gl (3325/033) Ja .0
Senaall 13a (Lasl/lad) G e 1
N3 5L sal) maalh 1HES 5al) sy (Cuzidil/cuaid) LY

VY JlaaY sl




G W BN ' IV u.s;..m).d\ (g_\;uu\/n_\;.u)
AP UGN RV & (M/M)

Faalal (e (Emiay/Eina) o
a1

Adage G dpaie (e Gty (Uid/J)

celadl Ayles Jad DL (e gl IS (afati/and) Cagu
“Uokaia) e b Ul (faffelal) Casd sl J
ccnlall 85881 43l ey LIS dina (Cilad/eila)
O3 oy (Tl /SN) Ja

Bypaladl e DUl (slil/ 2

el e Ungye el i) o 0lall (Canel/caat)
Gl SO (Aze)

sl Jlas Gansy Juadl) e e e (LD A)

o) e s oy GLLY S (CouSilfipns)
ran G b Jads Al ) (Gl la) s
Uil ks ey dpaie e EDUalsall Sy (Jliil/J)
A e Y (aal/ela )

Mg Al agail) JS Galll (aleind/ale)

pias kb pall il (/o

Alaall e 4 VI (?@\/?@)

g iy e gey el 358 Sl (&)

9Bhlall Gyl (Maial/3e) Ja

A

4

Y

AY
AY
¢
Ao
)
Y
A
A4
Yo
.Y
LYY
VY
Y¢
.Yo
Y1
YV

YA

coplall da A COUW (sl ysle) Y4

Ol SR (Camdatil/ e Lad)

bl Jail

A

Ve



3) Choose the correct verb form: tealial) ¢yl Lo ua) (Y

)l e Jg sl e ESY jeae
(@ss — s — 4
Al Ayl eyl LY Bl oyl
(s — calf — i)
el guy Ava o d;\j
(blis — gl — )
85 (usald clas Ja
(Cayimdl — Eylnd — &ylnl)
¢l 12a Ja
(Loarl = sl = ng)
il J<8 Al o
(dosis = ok — S
1Sl 3 @V e
(sl — sl - i)
el Ll ax Ledie Leiba s
(3l — 236 — <)38)
aaldll Hlaiadl ol Ja

{(land — 21— 32)

oy

Aalia Laldl delull b dxalal) b Aayl) as T 1

(a::-’._ ﬁf.‘.__ ,".)

el ¢ o8 S Gy Ladie L))

(k= L&~ 1)

Yo Judl oyl



A gkal G quulial) sl o siaa of Jads E LAY g3l (¢
4) Fill in the blanks with an appropriate verb or verbal noun
derived from the following roots:

& e Bl N el Gl b (J pa ) )
oM D (Jeg e (L)
b o B A Aalesly jobeas (L & ) 5 egyad
(¢ d 2l PR (e s @ s il
rgradd) Gl () gl Gl e Al
Uy g age clialas asill gpadl Gl (¢ L 2) Y
comal 8 ) (J o= ) @ plisalils
G (Oog) e 5 Ol g AU B e (J 5 )
Llaill paes (U= L £) &) ALYl eV laal caling
J) O il ey el ial alaia¥) el ddsally dpaglsy)
(3og) S padd 45l) PA =  SELABEY Gudyl (6 3
cgraadl e byl ulaa ) ae = (e
RERPURIIE T N VPV R NG FU [ PO (3 R 81
alelusae (B L¢) LS5 8yna (L 5 )
L)l Lays o) BT (8 A sedl B)lanally jolas (J 5 03) 3
SSA Aalall i e B BA (s 8 J) s Ay gud)
sl gl e (5 d ) s Lagiyy clialaall o ) 3y0ie
ol g N AU ApeliY) Llailly Tan V) (Al b

gl Jesill YV



A 5ial G qanlial Gl G sian i dad LA g3l (0

5) Fill in the blanks with an appropriate verb or verbal noun
derived from the following roots:

(0 3 ) ol e () i
(Fg o) Bioe cnd dina g G
(UG 0) - oY) I B a Chsug co)lf (anay Y
(U8 G 0) el S HSEY) Jom ey Bpaaall olgfl ey
(Jod) asdaahal G(oa)

(O K t) P R RERAY O

(@ o) ~wlsin S Ghals Ghall
O N deasl sall s Jleddl Jga Jylas o cony

(p2 <) .Cuuladl

(0s5g) M Bht Bma o] e e il
(Osg) A bt b daad G,

(d @ §) ~aaiall pld sl (W)

(d @ @) -canidl ol sl aa (W)

Asal) e )hsll (e dae g il gl 331 350

(ded)

(pB0) el b MM e e

el L2l el e DY) s Y
(2 o) (& e
(p J ) Fhawyaall ) cilaalgll S (&) Ja

WY ) ol

)
Y

AY

1%

o

A



Dbl il Ll adudly cleadl e La&all Jasti VY
(L) A

¢ olatiay) e 33y Ja VA
(U ) (3 )

gl Josill VYA



i) Juadl)
elacdl) pa culiiiiall

7 Jsrdall andy Jelil) and — pladdl) (e coliial)
:(Meaning)  Aaall .

The Active Participle Je W aul is derived from a verb and denotes the person

or persons who perform that verb.
QslS/ S [AIS [lS «—— CEK :Da
Syl o34 8IS (e iy b -

seie oo OIS Lagiae s -
The Passive Participle Jsial) aul is derived from a verb (often transitive) and
denotes the object of that verb.

Ay i€af e «—— IR 1M
Azl Gl A58 Bgiae o gy -
ULl 038 3 gl i Ja -
:(Formation) 4&Luall .Y

ds¥ ¢t
J g2l aud) Joal) ana) it
‘Jorda’ 0y e ‘Yo g Ao

5 — 8
goann e =

&9 4% L) b

« " Cigal) Jadl)
B i
B/

WA el e caliizall



x s e
* R Gl
s AY oY
dpball g | Jelilpu) | poldaal) dall) | (bl adl
AR | g e
L) AaLi(<) L5 Bl
gA(=) gA(=) () il
GAIIL) | @A) i) Y
el ca) () Sasin(3) et
His(4) () () REW

1) Change as in the examples:

: Calliall B LaS Jglga (Y

Jsrdal) awl Jo i) o) Jadl)
Wy sl L& 3 Jla
S,,. 2 S:..,, 2 S, | -y d\:u
pgd N als .
u)“:‘ SR cal.u\
.JQL\.A AY C);i
c_'xm AY C:ﬁ .

oelill Juadll VAL




Y e
0 e (.J,._‘ %
S
2) Change as in the example: rJlal) 8 LaS fgisa (Y

coud) A i cgiSa Calgll L aalsl) GilS a S e alsll S Sl

Ahall Giall 35

Kl e Q) 33y Caeaa
Akl Gipa Coug pan

Al Cayd Jal

conAll (DU g

LGl bl s

ol sl iy

cusaldll Ol andtiy

alakall L ek

ol 33y cale

A
Y

¥

A

<A

e

tJgrdall aud i Jelill and |gadind (¥

3) Use JeWll aud or J g2dall a) as appropriate:

Glaaldl) calalgl) L
 pladll O calidll Laall
b ahall s el Cojall mi

YAV el e caliiial)

)

1

Y



 paa b

gl

oA oAl (eagd

OA el (egd

Ayl i

A el aclay
O ¢l b DU el )

Al il Caatia Eul

Ot cagall Labnall ) cadin o

Ml )
RICTA

o) ) Gyl dan Lty ¢ gl il

St il ol Bt

A capall GlSHL Sl 3l Ayl Cuegd)

Las il ) Dl ol saa

Al

s cAllgll aaal Jul

AagSall auly

ol Al

Jal 138 ciasSall s Jal 138 sy

) cGail Al grsgenl) sl 3

el Liasl)

ANl A sl angi
W

Ul ¢ g sall ) pciadd
it

AU ¢ Jomill 8 AU il

Lﬁ\..ﬂ\ cggl..ﬂ\ u)&i Qi Jiaadf |
LY JS (LY JS cups .

D) gl Ayl gyl

Y

'Y

VYo

<10

VY

.Y

LYY

LYY
Y&
Yo

.Y

YAY



M2 ppmugdl) o 1) Jadl) ca Jgaiall ol Jolil) anily £ 1,40 Jgslal (6

4) Fill in the blanks with an active or passive participle derived

from the verbs between brackets:

(&) ¢ A ¢

Dol 8 dadlgl) A8l Ja, I (38s) . Blua 5kl de Ll

A5g)) e la) s Linma e 3 Gualal

o(L) A
leadl g (Ul
sl Gaa 13l

Al delall b mshandl (358 e (e (J3) s

(8) 28l Gl caaa Laie gl e 1o lalia

D (aS) Bany Ja

gy () oS

€any 1Ly

(Gll)  elbal Sy (Al dsa)  culg
ba dia (i) daal Claals

e Caall i 5y il B () puinngy lygha

913 i ¢ occnt
Ll saalydage V) (Blel) Caprll s U8 culs
sl i

Sl g

i) (caas) asidipe . Aapll o

: (88aal)

talgal)

1 (88aal)

talgal)

1 (38aal)

tlgall

1 (daal)

1l gall

M See Appendix 6 for meanings of vocabulary items if needed.

YAY  cladl) (e clgiiiall



Pl caaay 13lay

48 culs Al Gedlall S () Vsl Caay
CulS IS il bl oY) o WS gl e gl sl
Alia Ja Giyel Y ol o led L JS (U=S)
I () ol

Gl Gals ) e Al 1 sy ¢ I (Gs) \ed
A

$ sa L',j

.2

4o (<55) 5 crdl) e (ge) 4
G 03 4 () ol (e G gl ee Olia

Jeaii o Gangg ¢l (was) oo oY) s ¢
I (k) ez (ana) -
Saslsic 5l aisili Capes da (lsall)

: (38aal)

1l

ol Jadll  VAS



> & ‘ o
O\all awd is @ noun derived from the verb and indicates the place where the
verb occurs.

(J2da) ¢lal) ) @Vm&\ el
N ] i ds¥) sl
ks iy sl Form I
golaall (b b sl) ) e
(J2ia) OlSall ) goladl [l
SRS BREN s
) &3 \Sal) an
peless ‘Sb )“‘ M et | gl .
(dsadal ) D sl
PRI (s s dnl
Forms I1 —
:~:.S) Léj:\&ﬁ @ﬂ\ X

Pl GlSal) auly folas] (Y

1) Complete with the appropriate noun of place:

)A‘\:\su_ud.:gg.ﬂ\ Q\SA]\ )

5 4 JAN Al Gl LY
& 49 pudad (A i) LY

S 4 Jhad ) plsall g

YA L) e coliniall



b 4 alas gl gkl Lo
o 4 adlai (3 oSl 1
sa sl 4 3 sl LY

a4 AL A plSall LA
P YRS R\ CON |

sa aladall 48 JSU 30 Glsall Ly

e ey A oplaniny Ll JadY) e Sl ol (gl (¥
2) Form (Sl sl from the following verbs and use it in a meaning-
ful sentence:

S-S e P Ty )
faaf— gl W g -
R oo = o LT
K= K A L= )y

tOmegdl) G A Jadll e lSall anils £ LAY (glal (¥
3) Fill in the blanks with (\Sall awl derived from the verbs between
brackets:

28 Ol
Jal Cagusg 5yalall 85,8 4850 4 Wla Jeel L d s paaige U Lolee o
oe Gl ol sy e (B ASHEN gd A Jeall aalal)l el
(i ) e JES Cagu Sl oY Cualia (oS — R
S Zlins LY e gualeng agill Cige SO (e ) 0585 of qang Yl
el (S-S sesb(E-mh) S

el Juadll VAT



(ol — ) O L ) 0 o o @V Adueal
e (pitinn = i) 0a i 05 o ing) ol 0
-5) e G ) (6 of g Gy o @llin A yan Jasing
Al 56 o 0 Fag) Dlews Baygpall Ll el S ()l (S
sy -ps S Ll paang i dd YN (v —0w9) e Ld
DS el ans WY dale (S — (i) e L G ()% o
oS eaf e (g &) 8 OSus (e Gami (i sl

f(c&e — oK) 138 Slagl ¢S

YAV cland) (e culiiiall



el Juaadl
Juadt) gl

Jaadtl) gl

1. The comparative adjective, Juaiill aul, is derived by taking the root of an
adjective and putting it in the J=4i pattern, e.g.:

Jadl «— daea gl ——
Bl e (ppa o) 2eh  lghaY X

w o_ £

Ble— (227 M) ua

Sale—  (5Jdg ) A

el (¢ o oml) 22
Juadill aul is always used in the masculine singular form and it is always in-
definite, e.g.:

Uil e ol Blall e gy UL e il -
<Al }migﬁ<— e A :o)..}z_\agh -

SELY) e Calall i) «— Ll sulld) cladl citd) -

1) Change as in the example: Sl ‘_,a LaS Joles (N
el (ga Gl andaal) e Laipad) — qu b anadl) 1 Jla

Sl Bas — daadg asill San L)

ydall S — S Caall LY

Alaad) el — dmia Alaal) 28 .Y

O ei = dagh Jall s L

D) = gady Gl Lo

culall Sl = gguda anlall 124 1

il Juadll  VAA



ol = haa Glalgll LY
leilia) — daali dusigall o8 A
Leied) 1) cladll — dala duyall .4
GLES — paa LY

Sland) @l — Adle 550l 038 L))
Jadll — Jd g8 LY Y

IV Goall = S B Gyl Y
Slaad) clli — Adle 3)leall oda L) £
ol sall = Juaa asll sall Vo

2. The superlative adjective, like the comparative adjective, follows the Jadi
pattern. It forms an 48] with the noun that comes after it, examples:

.gu\‘éjgpajhi dall B -
Al e Jell Jall 5 -
Al b el Shal & -
ALY 6 cl Shal o -
Agpae Laa Sl 4 pldll -
Agpad) ol G a5l -

2) Change as in the example: s Jlial) ‘_,a LaS |glsa (¥
e Jahl 13 L e Jahl 13 e— sk 363 13 1l
S e 1 LT Al sl L)Y

M c_f.':\s [KY SN K,dl.é 'é)\:u.u o .Y

YA Jacadill (sl



5\.4,\:3 B )l o .4 .US:'I d_;) Jaa

Alaa Lde sl LY e Alia o 2a

&

)

3. The superlative adjective can be used in a different construction as in the

following examples:
allall 8 Skl oa il s [ Lallad) 3 Jel) el sa Jail) e
Al 3 Jaall o /LAl L Jaal) Sl

3) Change as in the example: sJUall A LS gl (Y

llad) 8 JeY) el pa 13 e L lladl B e gl a2l
e s oda

Aaal oda 8 g )ls (gaal 1

RS SO A

LCay _ual o34

Behill Jund 3 Al ol 028

o) Gera ol 1

 aisall b g sunge pal

s b colS el

Al 8 Jay 8 1

A

.4

'é)\:u.u ?ééi PRYS I

.ngi\_gudgsa&.\\

Gl 8 6 alief 13 Y

el Jacaill

V4.



4) Form sentences as in the example:  :Jlial) 3 LS Slaa 1338 (¢

LA Bl e Bl b« 3 = 3l 1l

Cis — Gauall a1 J-HS—L;D“T A
Je — aals 8 duhall LY Jews — Agyall 41l 4y LY
(seli— ool alak LA Gimia — By€ A dslall LY

pee — A siky L9 w_)s_@i .8
e — ) 13 LY Mey— baaall aG Lo

5) Form sentences as in the example:  :Jlall 8 LS Sy 153358 (°
daail) 8 qallds Jobaf Ul «—— Jysh :la

PR KYKI I
G LY pdia LY
da A oe Y
S VIV
I cadal Lo

) auad Jolatioa) .5y gual) Jghua (1
‘au

6) Describe the picture. Use the comparative adjective:
¢ Juabl Blanu (s

?3laly (oid Bl (s Aaaladl e A o a8l gy of a Jile

YY) Jaadil) gl



sy ALl o lsmal LAalad) cilagleal) B LEA) (V

7) Test your general knowledge. Answer the following questions:

(wlaglaa Ao Jgaadl cuiiiYl Alaiu) (Saal) ()

—«

Callall 8 pass el o e Calladl 3 i el 8 L

Callall & e Jshal s Lo 8 ¢ pan b dnae Sl L
fallad) 8ol el 0 L
Callall i 5)l5 5l o L

s

Sallall b 5ymy jral 8 L .
allall 3 lgm pynd 58 La

>

o)

i

.0

Y

: Jaail) gbeal (ppadiiicns A0 ALl o gl (A
8) Answer the following questions using comparative and superla-

tive adjectives:

)ilaly oy slads ila

8sgdll of (sl

Capal) of auyl

A o DS Gl e el
O B Lokl

leagse ol uadll (3954

cenlill Jocil



elad) Jadl)
&w\

GBlaal) Jgrdall — il gpatall
The (3las Js=éa is an indefinite jras derived from the main verb of the

sentence. It serves to emphasize the meaning or describe the action of the
verb. It is always < sais, examples:

N PHGI
Mee gl Eua

Aalagjl gl 13 b Gkl aadyy LY
A3l Lalag)) gl 13a 6 Gl sy
Ll Gyall sy sall Sagli LY
N3l Gl Bpal) Gy sall gt

tquailiall (3lhaall Jgrially glas] (

1) Complete the following sentences using the appropriate

Glha J gda

S asill Smy )
cAay e doail) 8 G algll (g LY
RS Jikll ol LY
ETIOR: gl o &y e
Cuaall sl il Cium adiy)l L0
S TagSall L Gl i3y
-Baleh Camlayy) Je ddaylll Jlay ana LY

14V Glsaidll



Al sl e dupad) culaf L LA

NJYEION dacle .9

5y Ol aae 3y LY
Aagsgha e D angi )
N TPIN Ot daiul VY
Sl QU 138 anny N Y
hsee o) Liagd .Y ¢

e cBaaY) ey LV 0

rilhae JoriaS Ay B A jalaall (e jlaa JS (gleniad (¥
2) Use each <« in a sentence as a (i Jgada

saly L€ Alazial L)
Oglad .0 N {
Ut EPR okt LY

* Note: It is possible in some cases (with adjectives da «Jufd ¢ S (Jash) to
omit the jaaa and use the adjective in the masculine form:

St Ggae b «— LB Faelusa Ugac L

DS ag ) Conaly e 58 dnalia gl Canal)

ALl AN A Las glea (T
3) Change as in the above examples:
B yalaall (e 5,5 Baliial st A1 LY

Saladl Jeadll V¢



Al 1a 10lamtiad Chaatil Ja LY
Feill apd ) 5SS Baw il g
falsh Allia 3yl AL 13l .0

Ol g Alaa) SE cugd .1

() :couilia (3l g gaia Jlariundy A0 5580 |slasf (¢

4) Complete the following passage using appropriate (3lka Jsda :
2 O AT
- il — gy — g — s — il — upala — gl — Bigala = us
@i — il — L
Bl ) e 48 S Cigye ol malin 8 Can sly3sl) Gud
tApalall Glgindl 3 dia Sal
i S cblady) aal dhiaslu W maag of oSaall e Ja (a) Axgdall

fpalall @il

Dlan) Cacmil a8l e ey 1(L) el o)

Camidi) L) ald) e Slisd lan) alana L
Cariy) ol Yy Mie GREN laad (K1, La

M See Appendix 6 for meanings of vocabulary items if needed.

190 ilyguaial)



Camii)) ol Gl lenld e o2 @il 3 Y
VooluY oKl s

@é&;u\@&u

S AY! Chlasy) & Lo ... aocsd
Al 8 o pall Cpuant 281 L g5l
Haa g Bl AT ) S e JEEN] ranaly
5,0 el e 10l oSl

calladl (8 olSa JS 8 oLl 390 cile b

aalaly (asSa Cidia Jaal

Al 3l Laadall  Apliall Cied)d

gaalEl e olly i Gas,
F I P R I K NS
Sl leeai ) A& Aaisl) ol

)y Aadall oa of bl
cSX WS Cunlg

-

Da cin LS Aapal

Gl lingd et Cag Alade L€l 5,8 clsind)

Y\:Aj \JLAJ i em

) Jiail

AR



Apald) il 8 dganl Aad) coypla a8l L Agadl) A

oSl 13
cosball 850K Guiles S e

a8 lae hypmn o dhislus S8 cal cageall e

Wi ) Jiial) 8 gal el W 00 o smyig alil

.dh)

Gl B LS Ggllaal) Jgadal) Cppasiiiane A0 ALLY) o |gual (o

5) Answer the following questions using (3l J s2dal) as in the
example:

'\ng Lx; L@_Ai ‘é_‘_& < _ ?3}#\ g_l)...'iﬁ Jalal dtuﬂ

Solaiell A 8ilias dayy e Cilias Cag
feaalsll Jaad ol 13l

s il 130

e il DA L salll) 2235 (oS

il et (il agdy Al 13l

fhabic caall ) cilia 13l

A
Y

Y



N

" adal Jgrdall — cilguaiall

The ala¥ Js2da is an indefinite jiaa in the wgaia case used in a sentence to

give a reason, or a purpose for the action of the main verb.

L]

(+or st el AN). LAY dipee 3 Lty «—— (P13La)) Bayyall 8

(o ole Galeill Cangy) o) o Lidet «—— ($13L)) Allia asall (i€
(+ercallas 1Y), agall Gl «—— (13Lal) Aol Wl

(- Jimsl) . Dlalsal) A8 yal Mg e (130 BlatY) g jia a8l sl

A
Y
Y

R

* Note that the preposition 4 is used with the 4la¥ Jsda (examples 3 and 4),

except when the verb has its own preposition (examples 1 and 2).

AN Jaadl (e Ada¥ Jgriall Lo s (Y

1) Identify the 4la¥ Jsia in the following sentences:

e Sall il e Blatial QhuaY U salll i e Lall e 200 (S o8
cagiasSa Ciga e 13y Cailal aale gl Fagl 3 yday Aildayll da Sl ol
Gl (alil s elal e Biay Blets M e SaY) cililee cllile
BB e s Al

zlaisdl 7535 o chalhe LY Guad Gy Bl alal) @ld @i
AaSall Glujles Lo

0o Bsa Jladi¥) 4 ads Al all 3 Sl DAl Gulall culd s
(AT Qi agag

el el Al jaipe iy g Walialie Lappel) Joall a5y iy
ca) alall JLEY 13hamind Sl el b il pns

)N Bl Ciluludl agad) e B aiadl aled Jleall jalls

ilad) Juadl)

V4A



radal Jsaiall Jlanialy rall Gadi 0o g (Y

2) Express the same meaning using 4la¥ il :

S a e el el hla ) al

Agpall L2l 3 alsise Gt (3 255 Y B0 G ST clla
cOlioU alaxiudU R[S 1 K13

AL el e Al Gy sl Ayl Jlay

e kel e agilind e 3 5l ladll s cuig
) e ley) Alie daaal) (S

O] aesa e agiand Aupaall pa B

e e il g Laall e Bl Cina

Al aigal Igrgad L)l o))y acia)

A

.4

Adaledl e calas Wl elubuall O talef .y s

(sl O s M) Jadl) glantiadl) AlaY Jgria Jlaninly ALaY) oo lgsal (¥

3) Answer the following questions using a 4a¥ Jgia . (Use the
verbs between brackets):

(kl) € 5 siall Aana b oLoa ity 13La)

(0= &) THES Ao Dy 1L

(o) € 3y Blle T 4 g5 1l

(2 ) Taeiuh (B aeiae b 3L

(0m Gy e b i) € o ) 3ayd il 13l
(0o Gl (e com) ¢ oLal 8 el (o I
(4 2xiad) § IS Lalad Ll il 13

144 el guaiall



(o ey ecanl) € 1usY) Sla ) Lad 3l LA

(0o <ala) ¢ dagal) 15lhy o1 3L .9

(05 Cany o(h i) Tsimalill aliia o 1AL LY

(L3e) ¢ @bl cpald) Ly Jals 13l )Y

(b ) eCanl) € Lpppall A2l Audyy 8 1 13ga (DAl J3y 13l Y Y
(05 Gy ¢ Lnyladl ¢y il 3L Y

(0o e [ e @al) ¢ glsdll 855s challas cmpa 13l LY €

(0o e [ Ho @al) ¢ dpadll pian Hpaa (o DUl atial 13l LY 0

ahe ey A Alal JgadeS jaaa JS |lenind (¢
4) Use the following jilas as ala¥ Jsrdain sentences of your own:

Jdlas .0 S PEG oS md L)
BPRETE I Jolasnal g Sle zlais) LY

t Al e (3llaa JgriaSy B AdaY Jgrias LU JadY) jalaa [periiud (o
5) Use the _ilas of the following verbs as ;3lha Js2ie and oY Jseis
as in the example:

oA daall « aliy — ald U
QS e BhER Jal) (grag alaY Jgaia
Ayl Bhea Ul (e sy ulll Gany 1 gllaa Jgada

il .o O+
a1 Sl Fal LY
Ay LY - ) LY
o daia) LA wyla ¢

el Gl Yo



Jal) — el guatall
The J\a clause is a construction which describes the state of the subject while

performing the action of the main verb or the circumstances of the main verb.
The J construction can t ake different forms:

-

LA

e snd) iyl e Al dae Sals 5,21 ailay e il S =
In the previous example Jlall is an indefinite Jo& awl in the i saic case.
S Uy daalall ) Eaad o
In the previous example Jlall is a dzaw) 4laa with the Ixiu being the pronoun Ui
and the A being 84w, The ;is called Jdl gl
.58 &Sguj daalall ) Eoad om
In the previous example, JWadl is a 4sem) 4daa with a fronted predicate adia .
el Ay Juadll iy m
In the previous example, Jal is also a 4sawl 4laa with the 5z being the pronoun
s» and the s being a g léaa Jad This Jla clause can also be expressed as Jad
golia
aad Jadll ) clay om

The following table summarizes the different forms of the J clause:

(oliae Jad of Alen aas 5l 2jie ) Dpend Aea + 5 @

(Bobme Jad) Alad Alas =

400N Jaal) @ Sl lsaAi) (9
1) Identify Ju)) in the following sentences:

Yol Gbspaidl



LOspilll sl oy aladall JSG o aas L)
Ul clilatial dlels cacall ) 33l el LY
celsells uadilly icind ) ol gl cuds LY
s ol a5 58V il (e any L

B S dalaly LSl b sy L0

rlad) Aas cpoSil ¢ gaada + Jlad) gly' o clE)AY {slas (¥
2) Fill in the blanks with Jwdl 39 + pronoun to form a J clause:

Ay ) gl sl V) laaw )
Geaaal) 8 sl sajall & LY

Syl Bl Jslay ikl a8y .Y

A IR Ospialill & LAl aalal L

SRl o dlgan ey saleadly ey A o
ol Lasg b slad gl yus 1

gyl il 23583 Lyalll 3y .V

e S Galaall )y el LA

e Jla Alany folas] (¥
3) Complete the sentences with a dsew) dlaa Jla

s 3 fle )
ooy lgae LiddSs LY

cees Laipadl U Laad LY
ooy Guadll (DY Jan g

kel Jusill Yo Y



vee s ANS i) Alaball S
ooy uanll Cuyd

cees ol 8 e
vee g ALyl &8

cee 4:19:1.3.;4 dJLa

A

)

..-J(B.\AQ* a}iécb.\~

Jlall 8 LS Jlad) Jlasiaaly 1 (¢

4) Change the following sentences and use Jll construction as in

the example:

G say Cull e A el e zd Ladis Waye oIS 1

cJeadll ) Linay) Lavie 3581 pds LS
ver 5 Guail) ) linay «——

cAxa Eal Ladie duale /luale &S
cogdra Gl «——

Al Gela e Juadl) 8 QU oS
c oAl Cels «—

ol £ Laie dupaal) ) e
e 5 Al ) adied «—

o5 oo Al i «—
g KE clS Ladie Lgalal 4ygen cuils
e 5 aldd 4 jgm il «—

A



ALl aaliy GlS e Wla Jakll )\

e s abil) aalsy Jalall S «——

caadll gl Ladie ¢ eSaniays osalSy U S
cee 5 Joadl) (Y J20 <«——

el ) cela Lavie Ll LS Al aa oS
vee 5 Aydal) Caels «——

Neallia caads Laxie Lgii€a iyl (S

sieis JTZ)&JAM E\L&d uAJ-Lm <

P ¢

<

>

D

.T:)Adj}{ ,)"A'“LAJ ;L}hmwcwww\@uls A

o g Jrn ] gl s

L (8 s aew Ladie Juadll 4 0 Y)Y

bl e i ——

Gl apd () sy Laxie W)y el sSan LYY

s Gl i ) sleass «—

rlad) Jlanialy ALaY) o |gual (o

5) Answer the following questions using Jl! construction:

faliall (e alima) (S

Colusall & Loy¥i Cas

Pl JS (el cas

faall b (ulat S

$aaall DY) o3a cpaalin Cas
¢ Liall J,lim Cas

ilad) Jadl)

\

¢



7 lua JS syl D cag v
foale yild cal LA

sdladl Jleatialy 400 ) gl giaa (1

6) Describe the following pictures using J=J) construction:




toallll (e gudagall e S (B leaS) (VY
7) Write about each of the following topics:
Ladie elils Joas L Aalall cilaglaall Ailus 8 Voo (pale camyy ol Jias .
ey (f (o500 Lol Adad pia o el sy Caale Lavic s ¢Ailnal) 8 < i)
cﬂlu < gﬁ d\;.“ M&\ .A}ﬂ\ ahg.g

OS Aa )l oda e i IS oS0y cle e ) Al Ala gy <ol ol Jas LY
oo syl ol e i) ey Gudlly ally 3l Al s Gaw
AeDla @l gal

el Jealll ¥4



@’ )-\-\A-d” ) — by J.m.u]\
Jwadll is a construction that describes what distinguishes the described entity.
It can occur in different forms. One way to use jwdll is in comparative and
superlative constructions to specify in what way the described entities are
compared. Itis usually an indefinite noun or jsasin the cigaiacase. Examples:

ol e ) e Gl ST el -
Gyl jand) e P J8jUadll el -

Jalad)) pae g S salEl -
* Note that if jaadll is a jiaa derived from a verb that takes a preposition,
this preposition is used in the jad construction as in the following example:

Gl — S en— ey
Alial) s & 48 clie i U
If Juadllis a yaaa derived from a transitive verb, the preposition dis used as in
the following example:

2]~ g g
mma n ) L) T 2

rdlall A LS Juadl) cus i |63 (9
1) Form jxaill as in the following example:
Agie ST s sl 58 Angaadl L il 5 jemne 2 Jlia
(sl B jeas o S 2
e o il Bl A el
cogie J AL () pagd il L AGR () paghy b L)

S Aial) jpma 8 e gl ALY g G glefibuedsda Y

YoV Glgaidl



ST AT A lasd AaLl) L T duagda) ASLY)
STl e e LS diSuy) ol e

b el 8 sal) Lol L) 8 sad)

STl Cng ala land) Cany gy

ST e lan Dbl @l ey (il o3a

¢ ST da g aglall Ay Ja $ha b oY1 Ay o
Ahally 4ie J8 Adige & L Auball Riga s
STl Juad b (O sxe L S g L) Juad & DU axe

A

A

e

rJlal) A LS Suail) cus 5 |gd5s (¥

2) Form J:3) as in the following example:

(Do) ) RY) Al Ol sl 2 Jlha

gl B el Joall ST A gadl
(ren) @AY clisal) [ Jaill
(ad) 4allly slial) Juadll COUa 3L/ 8
(23 o) o (s [ sl 52
(Aed) @AY Cpladl [ Gl
(322) @AY Apal) Jsal) G [ yeme s
(Usen) LY ugnn (Al [ sV papl
(Aol @AY chlnd) [ 3kl 03
(1S3 AV JukYl /[ Jilal) 1
(Jlan) aY) 25501 [ 32yl o2
(Rasma) @AY VG [ DEd) o3a

ilal) Jacdl

A
A

e

YA



: 5 Bk Jan 3 A0 jaliaall glaxtiad (¥

3) Make sentences in which the following ilas occur as juiw :

aldal .1 FAPYIVE
Ol LY codd .Y
ClA.I A sle LY
Jua WA b8 L&
Ty ) SUSIRES

: Jpailly Jaudalil) qagledl ¢ppatiiiun AN poiagall (o 3588 |g) (¢
4) Write a paragraph about the following topic using the compar-
ative and superlative adjectives and jaail :

du\at) ey
O S e Jumdl il 13 15580 b a5 o o Luaie oSy )y )
e L aial 13 Jady
8B A Jaall 13gs iy e comual Ula Ll 2201 355 Comial et il o )P
“Aapall Al mlial b aSael gy pel) el & il

: iy Jpadil) Gaglidl ¢palanionn Baaly 8,88 |5:38) €hilaly ¢ slizadi |3la (o

5) What do you prefer? Write one paragraph giving reasons for your
choice using the comparative and superlative adjectives and juail):

flapll L Bpma drive B5Lal) ol 50 Al dslall -
Syl il o gLl gl -
fiale il S o 39 51 gl il S -

Y.9q Qb}a.\.nﬂ



9 opsialill 8 alé saaliie of Laud) 8 old saalia -
¢ uS B oSl o Byma 325 8 oSl -

i gile oo Ul 1) (3
6) Write a paragraph about an imaginary product:
OB 3 LS el Jlantianly die 15305 (uma geiia b )5 S8
:Jla
Jany sSdlla Lol 8 Pl Base SSY) QL) (smae oSl
Ol ST elualy sl Yia ST dlialualy aly ST elilin]

: Jasailly Jacalll) gl aladiiady ALY 8) guall |ghea (V
7) Describe the following picture using Juailll quslud and juadl) :

G e Ly gabe o )l L oedlal 8 e (e Wlibna,
Maliiay ool agie K Al QLD C Lad 138 . Gudlally JSa

) sl ¥y



g @J\AJ\ Suadl)
u.'\:.'\d\ e-U-IY‘

@ "A-\AS.:' | @A-N‘
el atd) — the dual noun — is formed by adding the suffix [¢)] or [¢3] to the

singular noun. [¢] is added if the noun is in the ¢ s »« case. [¢x] is added if
the noun is in the G gaia or Jg 2w case.

Of [ O+ il = siall )
G ] O * (5 8) + il = el ,al

Examples:

aclu ‘ [y
i gal) al) ‘ Sl il

{ | v
%
Jisamial £ syal Jisaial N
D5l sl \
3 1

l

e L ‘ Quels oS oLs

1) Change from singular to dual: ttiall A Al e lsles (Y

Aladlly Gl s b inaal) Jany )
oS oS Josdl) B LY

sl Z\.A.\SJI)AA\ Gyl LY
LY b Al ey sy (8 ¢
sl e el o
Wu:é\ Lydle .1

YV Gﬁ““ ?u:\)”



) Ul pe el cians LY
Aall) 838 4 e AT LA

-

el GUS Eyaal L9

amaa Allie EfE LY
c SO hy alill Eunll chaala )Y
LI 538 Liya Ja Y

If el aad) is the first term in an déLa) construction, the [¢)] of the dual suffix
is dropped as shown in the following table:

i) Cilda — cilaal) ial)
Dual nouns as first term of 43l
Dropping the ¢

(B5ire)  Juaill tiashoe = Jumill + (s’

(&52) sliuiah = s + (liw)ae
(Lsaa/cisaia) il = G
(£504) (slidae = Ul + li)as
(Lsae/ saaia) e = W+ s

2) Change from singular to dual: teiial) A Aall e lgles (Y

e e o LT L Blan) andl) pae sie L)
el Kpal (ga pemaeally LY LASSAN 8 Ay el ARl S LY

Al JleSiny Legid ile LA ) e S LY
el jlus Camy Ja .9 paal ) gty camd L8

o]

o Lyl e W2 )0 L als Allia apal) Jude 5

e galall Jeadll YN Y



Bada Jaa 8 Wglaniad oF el 8 dalS S gia (¥

3) Use the dual of each noun in a sentence:

PUT L)

L. .o pld LY

calaga . iad LY

4) Complete the following paragraph: 1A 3841 |glas] (¢
i b (o) () iy sl
il e O P (- RPN}
2 lslesiny sl 5 adaad) 8 (J85) rlaa IS G

cstiall 3 08 e eland

gl G (Al lalSll cunlial) il £ 181 g5kl (¢
5) Fill in the blanks with the appropriate form of the words
between brackets:

@i Bl (A asll luaspldll jlas ) g)sull Gl Juas

~Osraall Gl sl HUS (e dae g (gpadll Gl Alliul oS Cus o(as Y)

Cun (sgand) el el (Gadll + Ga)ll) Aag
DA (g + Laa) Gla lelaal (aie + La)

5) clialuall 3 ehls Lot alaal¥) e Wil o e

gl Do+ owg) (AL sy eae danyla (Lys

8l (gygud) yadudly (cpald) 8

YT )



e A Juadl)
&

geand)
In Arabic there are three types of plurals:

1. alludl S3al) aas — the sound masculine plural — is formed by adding the
suffixes [(19] or [¢x] to the singular noun. [¢4] is added if the noun is in the
¢ 50 case. [(n] is added if the noun is in the Gigaia or g3 case. Sound
masculine plural nouns refer to humans only.

2. allud) &uigall paa — the sound feminine plural — is formed by adding the
suffix [«] to the singular noun. It refers to humans as well as non-humans.

3. spSil) aaa — the broken plural — refers to humans and non-humans.

The following table summarizes the types of plurals:

el gl il

S g
Broken Pl.

Al & gon
Feminine Sound PlI.
[/ &)

plla Sa 2an

Masculine Sound PI.

[s/nd

humans Jile =
Jle & =

non-humans

humans e =
Jils g =

non-humans

humans Jéle =




allud) JS3al) e (1)

G Jas + il = ALl S s
allad) Sl gan

2924l [ paiall g5l
J 2

BERDES Gsde

el b ol Lo oy el ol B3 Lgiad (2 Al gl ()
1) Change the underlined words to the plural and make the
necessary changes in the sentences:

.E)Sﬂ\ AT U“J'-\‘d\ C).».'I: Y
ilie & il o gianal) il Y

LY o) ae syl ciiass Lt
AL i) 3 ey D a0
oY) djs...;uq:,d\m 2
.\;M@m Y
.e\)xij\zmﬁ‘;&@wd@ A
el dubdl Jas 9
.Jgﬁ\ﬁw.s.
.?;ﬂsbsg;_}@_m;\.m

238 S (gpumall Ciny VY

Yyoe tAA.“



If allud) jS3al) aea s the first term in an 43La) construction, the ¢ of
the suffix is dropped as shown in the following table:

Ol Wi — ciliaal) ‘AM\ Sl fan
Sound masculine nouns as first term of 4dlL)
Dropping the [¢]

(509  Jomill £33 = Jumdll + 0y pusite

(e @sais)  duadll u)ds = diaill + )

(&50) bsu)da = sA + ()i
(STSESVPILE Qudde = s+ (audia
(Lsoaafcigaiafp sira) Goudte = Ul + G el slaie

rdaadl 8 At La gy paadl ) Bl Lgdad Al cilalsl] fdga (¥
2) Change the underlined words to the plural and make the
necessary changes in the sentences:

Lla ELia) adll e e )
.WJJAQJ)B‘ Y

Mﬁ»uﬂgﬁ‘ cibse za LY

s e sl Judye (S ¢

el 2201 uyne ALE Ly .0
—.LL»JAA)A\L\A A

Aala uuﬂ__rgs;;;‘;u v

36 e gl el s oy



alluad) i 3al) e (Y)

G [ &)+ el = Al gl gan
KIEXPRI P
234l [ guaial) g5 sal)
2 2

Gl Elwia

radl La Loy gaad) ) Bdall (e dad Lgdad Al clalsl] glga (¥
3) Change the underlined words to the plural and make the
necessary changes in the sentences:

Sl LI pe s paall cliaas LY
il 8 A h A0 s LY
QW‘&@H\A&ML}A .5
el Wl eox 33Eud) a8 L6

LUAA\ &e 'Sﬁ.JAM chaat Lo

Al Ayl s3a LT

cadll e ciad Ay Adlall LY
el e AdUagy) AUl s LA

* The sound feminine plural exists also for some masculine
words, e.g.:

NV gl



Q\JLEA B J\\LA
i i — s Sl

Gl -— als

Ei5a 3 g By < Wl

Non-human plural agrees with feminine singular

tark La gy gaad) ) bad lgdad Al cilalsl) (glea (¢
4) Change the underlined words to the plural and make the
necessary changes in the sentences:

ByS BHlal o2 L)

LK) o3 Luprall Canyd Ja LY
A Allaal) 038 L8

.SJ:\..\S iaadl) sda L0

LN A B e Byl cllia LT
S e i) Sl Y
S5kl byl GS Jo A

e panll st 4

3y0S 3yl Bylanll LY

A3 Gy gails &SI LYY

g Aalll o3a L)Y

e S Jeaill YAA



oSl g ()

There are many patterns for the broken plural. Refer to appendix 5 for some
of these patterns.

radls Le 1o Sy pand) ) bl Lgtiad Al claldl) fglga (0
S) Change the underlined words to the plural and make the
necessary changes in the sentences:

Jia S Caaid) T LY

ol Olae e Wl aba oSy LY
REIE-U WIS

(s QS Lo

cllall o }AE i3
?ng,:sgus Jda .y

feoLal) 1aa o q::: da A
e S S S

.&@Wa&.h

iy

eadl) 138 il oy Y)Y
As )l Lyse Slay LLE Y
COsalill & gpaall gl Eaals Y
.Agg,;n‘;w‘w;_a_wﬁm.\z

&abw&ﬁ)ﬂ\ sda .0

Ay all e pall Al adge Eals VY

\ARRRPON



:A ) 3 84Y |guis) (1
6) Write the following paragraph:

il

1aSinala (je 338 |4iS)

5l S ¢ il gall ccibisyiall [ ¢y smpaall /350 Dl e 153
2l cpeladll /

e inte A 5kl Glaalall e Baaly Jiaals 2l

e B Jeadll YL



e EE) Jual
Jsagall anddl

W Jsagal) o)

Jsagall audd) — the relative pronoun — introduces a sentence that modifies a
definite noun. Jgagall add) has to agree with the noun it modifies in gender
and in number. In the case of Aiall aud) — the dual noun — J geagall ad)
agrees also in case. The following table shows Jgagall ass) in Arabic:

e (s 2
&ija | Sk &ija | Sk &ija | S
[ DUl QU |l i sl
sl (0El) | (i)

tpliall Jgpagall aufly cile )il |olas] (9
1) Fill in the blanks with the correct relative pronoun:

coudll 13a Guggd E

-pdal) 38 Caaly 54 daal LY

csal Bhlall g3l 05D aa oWsa LY

cowll Cayd P AT

Bl a3 _ ot k) Al sy L0

ety ) Lad Lot alusg aliia .1

lalsll IS ¢S aa DU Ysa LY

LY e laaing Laa (grsnall Gadilly (gpaall Gasi Nl LA
il ealill 13a ylasis Laa Gliadall olila .4
e gall & Juadll ) els oA Al L)

YY) Jyasdl anYl



NE|ENPS LR KIENGUNR Or Olads Atg ape )

Lol o Daddy) b agepae (el syie &)Y

()

Jsagall ad) may not be followed by an adjective.

:Jall b LS cilen JS Ighay) (¥

2) Combine into one sentence using the relative pronoun:

Jeadll G dupadl LA eae Audadl L)

A G allal LSl LY
ke Leand AU Ay ALy

Bl ae lllall L gty Glidlall L€

s cndl s e el Lo

Sl A ey calagall CJgie calagadl L
RETREN | g Sl LOlles olakasl) LYV

A e daalal) 3 acUadl) gk acladll LA
(")

W@M\@@ggﬂ\ Al )

e Gl Juadll YYY



s JEal) ‘_,a Las (pilaa JS gkl (¥
3) Combine into one sentence using the relative pronoun:
ALY g s N lia YN
LAla caali Aalall LAliea Adabal) 53 LY
Liliad )3 Al Apaa Al LY
(Ol cuy (S olSay pldlall L plidaald gl g
LAla gl Adal) Aoy Adlal)l Lo
e e e (A (aded ol e olall 1
) (5 B leny Csilisal (g ilhsall LY
Llla ol Glieaad) L gbilies Gl LA

(*)
The modifying sentence which follows Jg<agall audd) must contain a pronoun
which refers to the modified noun.

L Eaals  a Al

a3 31 Al

:JUiall 8 LS ¢yiilen JS fghay) (¢

4) Combine into one sentence using the relative pronoun:

adll 3 Jyual dadll L)
U S (I ccalal OOl LY
cofndell BB L Gl peae i) L€

Sl andl Sana Coad 3l L0
o)Ll (g ) 8 g 223 o)L

YYY peasd) sVl



rod sl gyl Alea )3l
~coupall BN s o ealy Gl
Al Eoals L alaad e olall

Al 3 clid) Ll clighl cib)

com gl S8t L I s saslud)

()

A g s

A

4

N

Bl LS uilan S G skas) (0

5) Combine into one sentence using the relative pronoun:

R R

il By
Lol e CadlSs

cOdtlead) e (.:\Sﬂ

pad) e G

sl e Uaa

caxdaall 1]

) ) bl

Biall cldal e liaes

-l paall bl aa s

e S Jaadl
Ol llal)
Ol lileal)
aye )

el dalll QUS 8 dqil)

A jland axdadl)
Aleny ypa Al

Azl 33l cilaljal

e Bl Joadl

A

+1

N

Yv¢



* If the modified noun is indefinite, J g«agall aud)is not used. The modifying
sentence is called ddwall dlay, o

10 g dld s 1)) cuuliall ) guagal) ‘u.u\.ﬂ FAPE S ('\
6) Use the correct relative pronoun when necessary:

dea plEl) AT Sl L)

Aglall e o8 Lok Jilall juS LY

ooty Laglas)] obladll Laa o) .Y

CASall e gald S5 Je8 02 L

ol Olue A Caaiall () paye a0

P40l L L < omanll Cuyd Ja
SPXSQUNIRREIS OBl JS &L Ly

Naa 330 5L alakall LA

Ngd A (ol agds ol e U3 .9

Calua Ly Ll dadl Simel Ja ) s

el Cayd Y gold A lda )Y
bl dass lgau) Zaalal) L] el ddasa )Y
appe b ll dl5all e Cusaldll Ja Y

N e gall g pany ¥ Joadll 3 (Dl ellia LY £
Jash iy die ailld 88 S toaa &0l dlaall b0

¥¥ gl



7) Change the underlined word to indefinite as in the example:

Cospatil) 8 sl ) ALEN el i
sl b ASLE ALE e

Al g A 300D ae EualSs LY

cosed ol sl ) oSl aeda LY

il )12 e 3 (llall s LY

gudaall oIS 3 aledal) EuST L8

ASSal 8 LIS ) s galal) Wil Lo

T PAN AP A PPN

a1l L;E B L..S-m M\ ?LJ& Jda .y

ceiill Gphall e o Gl 8 Ll dasuy) b LA

Al ARl iy DU liaal) axdadll 3 GLGE .4

o] 138 L la Al Glaldl) usel LY

Gpgpa oS 1) Jpagal) antd) Jleaialy Gilan JS C lobaay) (A
8) Combine into one sentence using the relative pronoun when
necessary:

Eﬁm‘hj‘fﬁ_ﬁ)ﬂ\ u‘..\;m ‘SAPJ_)A J.t_.);:\l\ Ubé‘ o)

RE| DS PR R e mgggsui X
Lo Al k) e Al Lt

Ll il Al &) clyiall LB a2 0

sde B Juadll  YYR



ol g LS

Lol A & <l

) e aladall Lyl

sl Al Y Eaay

Basial) Al 8 Sl oSy
coal il Baals

el Sl 3l ae S,
caladall anl Cayel Y

- S dea ) g liad Al Al

cOsiaa dasll e
Aad ) ojland J)

Lol il
i alall ol
Y

Oilie ustl @il
A3 Llads ]

I

Mia ilall dlea 8 dia Jlorinl (Say Y K
X g @A) Gupall Euagh
rsi of ¢Say oLy kK
V S sh oM Gupal) Euagh
FOPNENE S
VYL Sl Gl Cuagh

AR

Y

IE

tdgagall aud) aladialy Cilaa JS G lska)) (4

9) Combine into one sentence using the relative pronouns:

N pady gl
cehax a3l
A,k Al

}JZ\A\ :Lt,\S)
sl e
Al Ui

s UG FRIE) 038 ga Jalatin CaS

YYY Uyl sl



coalle il Bgiae quas Lging cuail dad Ty Cagu 0

A0} 5,881 (slas] (¥ »
10) Complete the following paragraph:
e Aaalad) o AS55eY) Analal)
e A Al L B Aaalal S
S /7P RPN O 7 PR /X I OB [ NPV
SS) K\ 1| IO &7 PN PN | ey
RRSTCY| INURTES | KV ) I KPR YT POA PN Y

tdgagall al Cppatiica (A Lab cildy a3 |gs) (VY
11) Write definitions for the following using relative pronouns:
AL il a4 ady A KAl 8 axdaall «—— ankaall :Jla
Byleall il a5 Lﬁﬁ\ o il sa Cilgll «—— Galgal)

el .7 Lagadl .Y
Jadlall LY R
uhll LA Sl L
SR llgal) dina L6

:LLU@A;J\ o) A g—ﬂ.\.\j\ .0

tdsasall aul) Gpadiiu Aliadal) aSiluil oo (oSl (VY
12) Write about your favorite things using relative pronouns:

bl el ey A Cog i) b c3sedl) canl i Jlia

sde B Jadll  YYA



e bl Juadl)
Loyl o glad

oyl cgbad

Arabic has three conditional particles equivalent to “if”: &) ,)3), and .
1) 3 must be followed by a past tense verb (dayil) J28). The result clause (wis>
b ,4l)), if not a past tense verb, is introduced by 2. Examples:

Jadly DUT Gaald padY) &5l w
i)y DO LGS Cagud padY) E51Y)
Al O bt (8 o Lual) 355l Cagyda 1Y)
LAY L gy O Gali S8 LAY A ) Giad 1Y)
330V Jls & elidad ac @l Gups agdi ol 13 =
caall ae gl Gy agdl ol 13) 53y Jls & dte
(3L5 O Bghaa Cuild laiaY) 13 b Giaad )y w
2) &l is more formal than 13, The verb that follows it (Y&l J=d) and the result

clause (b4l @lsa) can be either in the past tense or present tense asja.
Examples:

Lgie Giadi il Lagl JS Giag LUAY & Y &aad ) o
gt Cans A Ul O B LIS o8 Y GaE G m
gie g A Llagh s ol LW Gl ) &pd

3) #is used for impossible or contrary to fact conditions. It must be followed
by a past tense verb. Its result clause is also a past tense verb introduced by
d. Examples:

clladl DL JS ) Gl Digale GuiS o)
laall s dleal) GlalY) ol Euall Wik &g 8 m

Y4 Lyl sl



Al oo Gad Gl o&f ol o m

oaiyl b Juadl da s e Elaad jSf Euapy 8w

ccaall b Gl pluall Bl Cupdl pl o m

i) 138 Gl W il ) s Caalad o)

(AT Ane 8 el LS5 8 Gy W By A ppaldl) cuilS gl

i) Japll cfgaly Jand) fslas] (9
1) Complete the following sentences with an appropriate
conditional particle:

PRI A

o) Algd 8 il of i Cigud Sl sl il X
s e Ly 155K ¢ lil) S pa LagS (K5 ¥

cebus lag Y LSl slina 138 35V e xa lind A ¥
30 IS slipmn] Sles Juaill 138 (5 ol .0

cAlia abls of (Saal) (e gty ) Caad R

(A Bye il caldll el ¥

e bl ol ¢ gaelud o A

Mpens eaai casy S @) (ge LB (S .4

el Jlls ¢ upall agis ol N

;A Adayd) Jaad) \olas] (¥

2) Complete the following conditional particles:

e Aoy A 1Y LY

e gl Jeadll Y



Yy

e Babie ol

oo OY) g2l 3 &S

e O ) 3 1S A 1Y

coe asall L) e

v LBaela o Edgla 1)

coe pug Al JS agdi ol o)

cev ) Jie Cagdal sall i 13)
e OV Ly Vbt o113

L LAY b el i o)

s JS 3l o (gy5 el cpab e

Jadll Guaa LY Jadl o

Y

Mgl ) Liand Wl L
M) ) Liaadl L.

Lyl Gl

)

Y

'Y

) €

Yo

A1
AV
AA

4

LYY



il b LS Ay Jaa ) Lslos (¥

3) Form conditional sentences as in the example:

ipty of qalion ¥ @il (in L s Y 5

Ll (s e J

bl sabss o) @ty il Livie Gl

Aralall ) i o iy pad g laa e
PGNP < I REI L PR P P PRV

caal lgaay Y iy dadal Canl

S L) ) cadl o) @llaly 35 il saie
i el el of k] W Gl By seanl) )y Sl
i slall e Sl Capel Y @l dan 1 3yl L
allall L cany Lo capel Y Gllaly a0 awlal Y

csiml g il () Iy Ay U

:Jla

—

A

1

coatiey) iy ale ] Sty L oaald) olatiel il culS Y .

sioh ) Alaad) (padiiees Al ALd) o gual (¢

4) Answer the following questions using conditional sentences:

13 Jai 13

$l ganall culisalill ¢ lal]
felyin Sl gl

fe Ll L Gyl clla

fdily o Jomnll Lpadd Allis o) nY acge Jlo CuS

e wl Juaill

YYY



Bl B LS ddapl) Alaad) cppariine A 5,581 |yis) (o

5) Write the following paragraph using conditional sentences:

rJlal) 8 LS e 15STy 455 () piai ol g )

co Cagnd LY (e asy 2l E1yy 1 s lia

YYY O Lyl gl



e Guald) Suaill
caiadl 480N Y
Guiall A0 Y
owiall 480N Y | also called the ¥ of absolute negation, is used to absolutely

negate a noun. The noun that is negated must be indefinite and in the qgaia
case, but without (usiill, examples:

Aa Al Jie S dpae slall fAEY =
LSy JSLaall o2a S G Y

ca] Bye Agladll ota b ol Sllia ul  w
il 8 2afy

daa) degdl b eloall Jols (e B4y

roadall 480N Y Jleataly ) Al o |gual
Answer the following questions using (uiall 48 Y¥:

¢ Cysina Al b els @l da )

Sl b s ellia Ja LY

ipal) Aalll s 8 dygman llia Ja LY

$aSiy JSLie cllia Ja . £

Sl gl dae Lvie Ja .0

PAUCEA 020 o 8 o llia Ja .1

¢ il 8 de) dlue Ja LY

AT e & Jeall A b 4l Ja LA

¢ 505la useld (g Coaal dupall 45l Lugals Sllia Ja .4

Blall 8w Al da .Y

de guelall Jeadll YYE



Sl

Wyaliaag J ¥ ¢l Judl gey — Y Gala

Jm‘ BY

Jm‘

g oludaal] il

) Jail

i

e

554

¥

el
T A

T\
\
\

¥R R

X - Yt
o o °
sL Lo {1 MY

B

o

SL

F
’
.

Eﬁ.
.
.

o
ki \
E“

°

° .
Y Y
sy

Yo Y gale




JMA-“ QJJ

) Jail)

AR RS

i i

e

Ulasd

F

)
gz
f"u ‘E:
WLy Ll

\
E\
.

. —n
. . N Y
Y S
£ PR LY

30l Yy




oaaall 09

) Jail

sa

FIV B |E

T~

oA

Jsi

JA3

Jsp

o

g

—yv

Jsas

Jia)

Ty

s

i

YYY Y Gale




JMAM BY

J.ha.d‘

&JL.AA” Jadl

ralal) Jaill

Jlas

il

i

Jh

Jlas

e

ks

-
\
L £ PEAN

Jlad

et
x[f: s B

Sl YYA




Qi) Lgdoliy Al Ajadl) pla) — ¥ Gala

59aal) elawd) 4 gaial) slawy) e gb al) slaw¥)
iy (5 spal) and) L) A dedal ) | 0 pally el
il ol Al | Gupal) (Ul st Lpany) dleall
daalall ) Cuad il BKTEN) B KENS PTGV
Jrakia

) ciliaal) .Y

CTR Sl rta
ikl

Wlgals s e Y
Bla el oS s Ja

el 3 Jeld) s
Aladl

S OOl aed il

sl

el Al Aduall ¥
o slial) Llls :Jla

Wlgaly &) pud .Y
fﬁ ycaall éb.hl\ &) tlia

alal Bagaad) § )Ll 2 Jlia

G gaiall audl diiall . ¢ Je ) il g
Jas GUS Eypdl sgla| Al Sl Gy sl
.L)A\AY .unAi

Glaal) Jgadal) L0

s

-

YY4 ¥ Gale




5 oaall et

4 gaiad) pland)

de gb al) glaw¥)

Adal Jgrdall .1
G pedle a1l
Ll e Edgd

Jaeadd) LV
Lalaay) ST 3yl Jia

Jduadl LA
Jaadl) Cllall Jaa : Jla

Yo

=l YE




dap) A3l A JladY) g lgl - ¥ sl
-0

Jlady g! il

/\

Weak Sound
il cigal Jlia s | jsega | allw

Defective Hollow | Assimilated Doubled | Hamzated | Correct
(e2-led) | -9 | -Oiay) | |(35-%)|(KL-XE) | -ca)
(oo =l) | (A | (de (Jat ~dl)| (Lo
(8 ged) | ) (1 -9

(Gt

—uﬂc)

(G
YEY Y Gal




Bypalaal il Ay al) 42l B Wjalaag Jad) ofigl — ¢ (3ala

shadl| gt | aad) [ gl gat|
- 038

wlad | Lak— Cad Form I
& 2 S o T ¥ 2 u.n.d d:ﬁ:l orm
(MEEN Ay — -

Slla

K| K- | set |
d);’g :j;_\:, = RS There

is no
o -, E - -,
e | Qpar— Qpa| rule for Lk
A | A5 - 2R | deriving o

: the Sl
G| e TR | yerbal o il
Jao daxy — dee | noun. ' )

Trilateral

‘o
-
\
o
£

-

-

&

e K
B o™ £

g J'.J.\S; _ JQS s (ad root

S | G55 - G55 | g Jai | Fom1I

Aglae | Galad - Gple | Alli

dt\g 819; s dm Jela Form III

5
K E:"

Form

iy

S
o
-

-

P
"
Gy
EY
|
L
"
3
E|E

Form V

ol | Gl - Gplea | Jelw | Jeldy | Jelw |Form VI

Bl Yy



Jlai)

o
\
o
o
£

Jadl

Form
VII

Jlazd)

-
\
0
"o
Y i

Form
VIII

Dl

o

\

o
1 i

Form
IX

3 S @o -
?:\;.\.ug

Jlatil)

Form X

QI

QI

Jiad)
kA
Quadri-

lateral

root

Yev

% Jgalls




Llisly saesil) poan g — 0 (3als

Following are some broken plural patterns:

038 ) 3 i)
A8 i
, = ol
Lm 2 3 . .
iala Anila
) PR
Jdeliz ol ii€a
&8lsa s
, SI g
delss )
sk &k
Jil)y b,y
Jilad Lia ahaya
ail 8 A58
Cigila Caia
Jyat Jyaad b

Sl Yet



9)4’3\ .
¢ Baal (s
1)) BYY
b Tl gl
el o)

Jas D 3)pa
e e
RS Lol
Jlab S s
LS s
Jlaks] Jik
ﬂj Ay
u ?‘\); | O
el -
latal ala
4 e
Al v

Y¢o c‘ja.hx
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el
. o lad =
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Gl yail) g B clalsl) e - 1 Gala

Vg lglsaly o
An explosion Dlad)
To arrest o Gle L) 8l
The suspect VLR A
Interrogation gt
An inspector Lgi;in
To hold IV e — el

Y o faiaall autly quaall o)
Area, district dihaia
To extend, stretch i
The countryside )l
Electricity MEVIN|
A building 5)lac
A district PN
To inherit &5
God bless her soul A gan
Relatives o Ql'ﬂ




Neighbors

Old (p228 .p) 2l

¥ oyl :g.'\,\.d\ a1y < yzall pd)
To receive ‘_,sls
To deliver

To announce

ol
3ia

S

Bilateral relations

A

Developments <yl
A part P3N
Tourists Gl
A governorate idaalak
North Sinai ol Jlas
Gulf of Aqaba asal) s
Area aalis

Yol gl ualal) Jadl)

To drive a car

3)las 298y — 218

Tired

- w2

g.Aa_\.a

Gadkdl  EA



To the extent that & danal
To wake up v Cgléi
Hospitals - sing. hospital i e — Gladiug
An accident Gala
Alive PN
To call 4 el il
Ambulance alausy)
A nurse ahak
Mobile phone Jsanall Cailel)
A bag YIS
To disappear VI 254
To get s.th. back X alaaal

¥ oG alll) — bl Jadl)

-

An oasis dalg
Siwa Oasis Boiw 4alg
Sights <ilylya
Tour guide b by
To find out VII aiis)

Y¢4 1 Gale



¢ iz gadall anly Jolil) amd — slanll (o ciliiiial)

The inspector (saal)
Building roof z -l
To become dark e.ll:\
To close sl
The owners of the apartment dadl) g_al;...ai

The desk drawers Sl (70 -p) C‘Jj
To steal s.th. (o
Gold aa )
£l thall Jerdall - Gligaial)
Noticeable Lala
Clear z=als
Tangible U sala
Considerable Cjb
Simple Lad
Magnificent C"b
Slight il
Direct il

@Gl Yoo



Fundamental TILEN
Achievements Cilylad)
To decrease VII adds)
To increase VIII é.ﬂ )
Traffic BYB¥Al
An exception o L)
Culture aald)
The budget )5l
Allocated to faladk
To affect e i
Activities ol
Antiquities Bl
Discoveries lalios)

Yoo Téala










	المرشد001
	المرشد002
	المرشد003
	المرشد004
	المرشد005
	المرشد006
	المرشد007
	المرشد008
	المرشد009
	المرشد010
	المرشد011
	المرشد012
	المرشد013
	المرشد014
	المرشد015
	المرشد016
	المرشد017
	المرشد018
	المرشد019
	المرشد020
	المرشد021
	المرشد022
	المرشد023
	المرشد024
	المرشد025
	المرشد026
	المرشد027
	المرشد028
	المرشد029
	المرشد030
	المرشد031
	المرشد032
	المرشد033
	المرشد034
	المرشد035
	المرشد036
	المرشد037
	المرشد038
	المرشد039
	المرشد040
	المرشد041
	المرشد042
	المرشد043
	المرشد044
	المرشد045
	المرشد046
	المرشد047
	المرشد048
	المرشد049
	المرشد050
	المرشد051
	المرشد052
	المرشد053
	المرشد054
	المرشد055
	المرشد056
	المرشد057
	المرشد058
	المرشد059
	المرشد060
	المرشد061
	المرشد062
	المرشد063
	المرشد064
	المرشد065
	المرشد066
	المرشد067
	المرشد068
	المرشد069
	المرشد070
	المرشد071
	المرشد072
	المرشد073
	المرشد074
	المرشد075
	المرشد076
	المرشد077
	المرشد078
	المرشد079
	المرشد080
	المرشد081
	المرشد082
	المرشد083
	المرشد084
	المرشد085
	المرشد086
	المرشد087
	المرشد088
	المرشد089
	المرشد090
	المرشد091
	المرشد092
	المرشد093
	المرشد094
	المرشد095
	المرشد096
	المرشد097
	المرشد098
	المرشد099
	المرشد100
	المرشد101
	المرشد102
	المرشد103
	المرشد104
	المرشد105
	المرشد106
	المرشد107
	المرشد108
	المرشد109
	المرشد110
	المرشد111
	المرشد112
	المرشد113
	المرشد114
	المرشد115
	المرشد116
	المرشد117
	المرشد118
	المرشد119
	المرشد120
	المرشد121
	المرشد122
	المرشد123
	المرشد124
	المرشد125
	المرشد126
	المرشد127
	المرشد128
	المرشد129
	المرشد130
	المرشد131
	المرشد132
	المرشد133
	المرشد134
	المرشد135
	المرشد136
	المرشد137
	المرشد138
	المرشد139
	المرشد140
	المرشد141
	المرشد142
	المرشد143
	المرشد144
	المرشد145
	المرشد146
	المرشد147
	المرشد148
	المرشد149
	المرشد150
	المرشد151
	المرشد152
	المرشد153
	المرشد154
	المرشد155
	المرشد156
	المرشد157
	المرشد158
	المرشد159
	المرشد160
	المرشد161
	المرشد162
	المرشد163
	المرشد164
	المرشد165
	المرشد166
	المرشد167
	المرشد168
	المرشد169
	المرشد170
	المرشد171
	المرشد172
	المرشد173
	المرشد174
	المرشد175
	المرشد176
	المرشد177
	المرشد178
	المرشد179
	المرشد180
	المرشد181
	المرشد182
	المرشد183
	المرشد184
	المرشد185
	المرشد186
	المرشد187
	المرشد188
	المرشد189
	المرشد190
	المرشد191
	المرشد192
	المرشد193
	المرشد194
	المرشد195
	المرشد196
	المرشد197
	المرشد198
	المرشد199
	المرشد200
	المرشد201
	المرشد202
	المرشد203
	المرشد204
	المرشد205
	المرشد206
	المرشد207
	المرشد208
	المرشد209
	المرشد210
	المرشد211
	المرشد212
	المرشد213
	المرشد214
	المرشد215
	المرشد216
	المرشد217
	المرشد218
	المرشد219
	المرشد220
	المرشد221
	المرشد222
	المرشد223
	المرشد224
	المرشد225
	المرشد226
	المرشد227
	المرشد228
	المرشد229
	المرشد230
	المرشد231
	المرشد232
	المرشد233
	المرشد234
	المرشد235
	المرشد236
	المرشد237
	المرشد238
	المرشد239
	المرشد240
	المرشد241
	المرشد242
	المرشد243
	المرشد244
	المرشد245
	المرشد246
	المرشد247
	المرشد248
	المرشد249
	المرشد250
	المرشد251
	المرشد252
	المرشد253
	المرشد254
	المرشد255
	المرشد256
	المرشد257
	المرشد258
	المرشد259
	المرشد260
	المرشد261
	المرشد262

